LEFRTESRERAR
ik . BT XAIFERR1279%65321=

FEiE : 021-51168255 /€8 : 021-32098761
Web : http://www.tecochina.net

fHER .

=]
=]

K5
Er]
Kz
Pa)ll
b=
7R
otz

FBiE :
EBIE -
EBiE -
EBiE -
EBiE -
EBIE -
EEiE :
EEiE :

0791-88195999 {£H :

0769-85243625 {£E

022-23859622 {&E

0510-85342005 {EE

0791-88167730

: 0769-85243695
0592-5703299 &K :

0592-5703311

:022-23859623
028-61304688 &K :
010-56378611 {&H :
0532-88619861 {£H :

028-61304699
010-56378611
0532-88619291

: 0510-85342053

TECQO

C€ @ 109001:2008

=R

SERIES THREE PHASE INDUCTION MOTORS

&t F RIERERL

Teco F Series Standard Motor

IEC 60034-30 2014 /IE2
GB18613-2012/GB3




I
www . .tecochina.net

contents

TECO, a famous globalize enterprise group, share the forefront in global industrial motor of the world;

and it has successfully diversified into a highly competitive development conglomerate with worldwide
business operations including heavy electrical, home appliance, electronics, IT system, telecommunications
equipment, financial investment from the motor giant enterprises. TECO Group currently has nearly hundred
oversea affiliates and subsidiaries, and the total global employee amount is over tens of thousands. It has a
wide range technology cooperation with many world famous enterprises, such as GE, Japan Yaskawa, the U.S.
Westinghouse, Siemens of Germany, Japan, Hitachi, Mitsubishi and so on, its business territory has been
extended to Asia, America, Europe, Australia, and became known as a well-known World Group, TECO had
become an international brand.

In order to integrate management and provide services for the motor sales of TECO in China, especially
set up Shanghai TECO Electric & Machinery Co., Ltd in August of 2012. And Shanghai TECO integrated four
manufactories base that located in Qingdao, Wuxi, Jangxi, Fujian co-ordinate marketing services for the
customers in China. Shanghai TECO Electric & Machinery Co., Ltd is one of the subsidiaries of Taiwan TECO
Electric and Machinery, is also the sales headquarters in mainland China and specializing in marketing various
motors. Now the sales range of introduction motors had across the country, the strength of motor
development range is available in low, medium and high voltage (up to 13,800 volts) premium efficiency and
high performance motors, range from 1/4HP to 60,000 HP. At the same time as the only sales window of the
TECO Group in mainland, Shanghai TECO sales all the motors such as asynchronous, synchronous, DC motors
which produced by Taiwan TECO, TECO Westinghouse and other overseas factories.

Shanghai TECO Electric & Machinery Co., Ltd provides customers with world-class products and
satisfactory services based on its advanced technology and good management.

For any technical questions, specific applications certified dimensions and performance data, etc., please
contact our TECO representatives.

Shanghai Teco Electric & Machinery Co., Ltd.

Add : Room 321, Building NO.6, Lane 1279 Zhongshan W.Rd,Shanghai, Post 200051,PRC
TEL: 021-51168255 FAX: 021-32098761
Web : http://www.tecochina.net

http://www .tecochina.net

Fnﬂ-@ﬂ]'

HGotER HRIe Bk DIV BIk SEFESFIER , AT HFRIF ; HNBIEA WA EAEISER. 5B BT,
2. B, SRREAE T UENEESERF NS TEENTR I ER, FocEB B a3 e
A, SN TTR TIAB AL, #25HAESRWESEE GE. BAR)||. EEARE. #EA 17
HABM ., =FFTVBRASIE, ERWRECT EZWiM. M. KM, BiM , BoarlSNHFER , TECO 2
B IERRERRE.

NEEEERS BN THrEX SIARHEE |, 151 2012 & 8 Y LsFouEsBiaRA= , BE4HR
TTHEB S, oih. (1. RENABIES SN RESHRSFERF. LefotEaEsotBiEdlNF sz
— EFTTEFEAGNEE ST , EUWNEBNNES TF  BasSBaiiES oECEN ESt il
B M 1/4HP | 60,000HP {EFESEDIAS 13,800V EEBESE DR ZIAMGIST, REHEAGUTSEREX
FENE—HEENE , Bitasion, REFSTRESESHN L ArNss | B , EnESHEai. LishouE
SEVNARATLSEHIREA , RFNEERE P REER RN R IHERNRS.

MEEHTRAERRBEIEANDIAIMNER IE . ASEER. FESFER Belinaaii 12wl RE.

BsHoTEERIERAT

et - BT XA 1279 % 6 5321 =
EHjf 1 021-51168255 {£H : 021-32098761
Web : http://www.tecochina.net

FrolFmAEREESE | IEEERABTEA.

All date presented is for reference only and subject to change without notice




Fh®E

= VAR T 1]

1956 fF HABHBRHBERARARITAZT=EH.

1965 FEMREARSE—EERILENES
I

1966 4f TRIJ R (BRESAHEARL) .

1973 4 ok BHE, £54 S BN Bk
HMERB~MA.

1979 £ hifi— B =/, SARFBILIR
£ F=EM.

19834 WE BR,£HMN. . SHET~R
BN,

1987 & SR B Al SHEAEE~E
ABIEH.

1991 fF WHASK B Tk, SAEHFHBshL
EFERBES.

1991 4F SREE B 5EMl.

1994 4 MBFEFEN B T

1995 £ HMEEPEE (WESTINGHOUSE) FBHLI .

2002 ¢ EHRETHENE .

2003 fF EBHETIERIE”.

2004 5 ERHBETE—T EI.

2004 £ STEZRITHEME .

2008 f WEFTIEIE .

TAMEMES

&P

VY JEFSF LY T ¥

AT MTIIS20140R0M 3200
2hiEH

FRTEHAR LR

BT TR £ ok 9 5

T R S S R R R i TR R
OHSAS 1RN1:2007
GB/T 28001-2011
FAERIEHA T 5 TEAH AW 5
SHRsaail. Rhkhlmiit, £z Emn

TRERAEDL N

REELBEAERER

FHEE: M11302107RIME200
HiFW
FthETRiARLE

RS B R R
1S09001:2008
GB/T 19001-2008
ML R T
RSl AhEhmRt. £~

LM moah izl APOREER, I E WAL, s

gred by Wang Sl

TERBUEDH

o o
——

T A4 AGEE P
Y 001 13E20206K1M/3200
#HiFm
FRF B ERAE
Gl TR T PR
S TR BF bR R Ol

1SO14001:2004

GBIT 24001-2004
il A UE S Ty
SHR O AARAGR . A RORERED

sS@7 — Q/

DARBNED N

ZHRT R

SERIES THREE PHASE INDUCTION MOTORS

H x

Contents

RITFRSI =R AN

Teco F Series Three Phase Induction Motors

AR ¥R Technical date

{8 F %% Applicationt

B4 Character
T REBA Saving Efficiency Instructiongs

13 Noise levels

&b 485 Product Number

FHER

Data Sheet

F¥roERIEB F4 Standard Motor
Model: TEGH/TVGH

Type:

AEEFF3/AEVFF3 (Fr#80M~250M)
AEHDF3/AEUJFS3 (Fr#280S~Fr#315L)

AEJEF3/AEJUF3 (Fr#315A~Fr#400A)

SMEE

Outline

IM B3

IM B5
IM B35

IM V1

13~14
14~15
L5

16~21
22~27
28~33
34~38




BIAREHRE

Fh3s: =HFH R
gitEE. EBFEEIER<S IEC60034; T EEFRIFE GB755
JISC4212,CNS14400
EIERE: 380VEETHEE
BAESREE: 50Hz
WMIHIhER. 0.75~375kW
TE®l: EH&TEH): S1, SF:1.0
HLEES: 80~ 400A
BRHPSELR: P55
BEA: 1ICan
MRSEID. F iR
B YUES/NF180M, EFHF#BIH80C
HLE-S 7 180L~250MB FHF#8it105°C
HES A F280S, BFFBITB0C
RS BAOKFEMERSE). IMB5(KEE= %), IMB35(KFE
MR AR, IMVI(cI R ihe TRE).
SR GMSITEERENE GB18613-2012 GB38Ed. IEC60034
—30 2014/IE2

ERRMH

ERRSRM: BERENE + 10%UA; MEENE £5%UA; BER
SRR A ENEERA10% A, {ESEHEIR BT £5%.

ERBAT: ER . ERRSERE

FRIRE: -15~40C

RRE: f8X8E 90% T BR85S )

BRERE: R 1000m IF

f&mhrzt: R Esh, B22P 22kWE R £, 4P&6P Fr#2s0X |1
A AR EEh .

HEFEFSIR): SIMUERES: , E RIEF S BahfH &RiFE 8]
B, T 1) e s B S N 1 [ e e

EEhA: SFEESRRIE Y-ARs), 55kW BT 1Y;
55kW R E: A
¥ . (Munsell 7.5B 3.5/0.5)
BR, RERMBIETRENAHREFER BN, BN OE
TR, N EREEER T8 .

BSR

o Fl— MR IRE T MAR RN A ( TAARRIRENIE FRFH, TIMRRE
[E 460V AT ) ZTathst - R/ KE /| SF &M ) ( THEmE
¥ F#280S~400A 7 F 4#h7& 5% FA 4 S5 5h% )

IPS5 Bitrets, i, BiRFERINR, FRIER, B3R, HEERF
ik, BEEAREM

QCDMUTORS
1

TECHNICAL DATA

Class: Three phase induction motors
Design standard: IEC60034 GB 755; JISC4212,CNS14400

Rated voltage: 380V or other

Rated frequency: 50Hz

Output range: 0.75~375kW

Time duty: Continuous:S1, SF.:1.0

Frame Nos.: 80~400A

Protection enclosure: Totally enclosed(IP55)

Cooling method: Self external fan,Surface cooling(IC411)

Stator insulation: Class F insulation system

Temperature rise: Frame NO.Up to 180M: Not to exceed 80°C
Frame NO.180L~250M:Not to exceed 105°C
Frame NO.280S and above:Not to exceed 80°C

Mounting: B3(IM 1001). B5(IM 3001). B35(IM 2001). V1(IM 3011)

®GB 18613-2012. /GB3,IEC60034-30 2014/IE2

APPLICATION

Power source conditions: Voltage: +10% , Frequency: +5%,
and 10% Max. of Combined Voltage and Frequency .But Frequency
Variation Does Not Exceed +5%

Place:In door, Non—hazardous

Ambient temperature:-15~40°C

Relative humidity:Less than 90%RH(Non-condensation)
Altitude:Less than 1,000 meters

Drive method: Belt Service , However , 2 Pole 22 kW and Up , 4 &6
Pole F# 280 and Above Coupling Service is the Way .

Direction of rotation:Counter Counterclockwise when facing the
drive end side and the alphabetical sequence of the terminal letters
of a phase troup corresponds with the time sequence of the terminal
voltages,the external fan is designed for bi—directional rotation.
Method of starting:Full voltage direct on line or Y- A starting 5.5kW
And below:Y; 5.5kW and upside: A

paninting: Blue—Gray Color ( Munsell 7.5B 3.5/0.5 ) .
Requirement:Basically,the coupling and belt should be heated and
pushed onto the shaft extention with slight axial force,Do not
hammer to prevent bearing damage.if need special requirement,
further disscussion will be demanded

Drive method:Belt,direct coupling,gear and so on

CHARACTER

Can be used with common power supply or the inverter(operate
with inverter, temperature rise if F class, when the voltage of the
inverter below 460V)(Inverter load; Blower Water Pump Fluid
machine)( recommend Inverter motor Fr # 280S ~ 400A bearings
in F insulated bearings)

The protection enclosure is IP55,protect dust,drip and oil,Cast iron
Frame strong configuration,which is accord to international
standards and safety safeguarded further.

The stator insulation is class F of TECO insulation system with
good heatproof quality,

Website | http://www.tecochina.net

RAKRTF Ribsk, WHRES, MO EHER, 556K, HELHE
ThEERESE
e O Rz MR, EEW BN, EREEARE

Mg et RN EL EEMONTRENZTENRERIEER,
BRERAERESHRN N BFER. ZL2TH

. WIBE P BEUHEREARTSE, PTC, ZENFA:E, RTD,PT100
EHE

=ImEE Profile

_:|Ia_§'

[ /| /

000000@@@@@@

TECO

strong resistance to electrical sparks,long insulation life and can be
competent in the bad environment.

These ranges use bearing imported from famous brand company
and the silicon steel sheet are come from famous national steel
company.

Standardized design, high quality material, advanced processing
equipment and consummation guality guarantee system,it is
embody in the high efficency,low vibrate and reliable safety.

the thermistor,PTC,Heater, RTD,PT100 or others can be provided
according to the needs of purchaser.

\

1 FAN COVER(R. &) 9 STATOR(ZEF)

2 EXTERNAL FAN(X 53) 10 ROTOR(#¥)

3 V-RING 1 BEARING (1 7K)

4 END BRACKET (i 3% 12 END BRACKET (i 2

5 FRE-LOAD SPRING 13 V-RING

6 BEARING (%h7%) 14 SHAFT (%)

7 STOP RING-BEARING 15 KEY($)

8 FRAME(HE%2) 16 TERMINAL BOX(#4E)

Website | http://www.tecochina.net

TECOMOTDy
2



¥=5h Vibration
FrE e FERE R LSRR AR (F0E ) Ea SR H sk,
BRI AESHENSRANEEEUE ST TRP N A BEFIHE,

Rotors are dynamically balanced to severity grade A using a half
key.Table below contains the effective vibration values for
unloaded motors.

VibiEtii;grl%;?ade Framiﬂsghf(mm) 80=H=132 160<=H=280 315=H=400
BEA HRENEAE (mm/s) HrshE AL (mmy/s) HRENEAE (mm/s)
A Mounting Vibration velocity Vibration velocity Vibration velocity
l?réig?u%pension 1.6 22 2.8
g&%ﬁummg 1.3 1.8 23

B im P& Max. rpm

R EVRATER SR SIS TRIE
BrdEsERe - B 17REE, SN EBEA 1000V BT HLES 400 BT
WA ERHERRN N EERTIHNEEZ AREES

EfT
HE 1000V RLI T2 a8 MNE R A R EIE(THE

Safe running speed for the squirrel-cage induction motors.

Unless otherwise the name plate specifies , all the squirrel-cage,
3 phase, induction motors lower than 1000V and smaller than 400
Frame Size can safely run continuously at the speed in the table
below.

The safe Max. rpm for the squirrel-cage, 3 phase induction motors
of 1000V or lower.

BAIAY | B4 rpom/min
HEES
Frame Size
=100 5200 3600 2400
112 5200 3600 2400
132 4500 2700 2400
160 4500 2700 2400
180 4500 2700 2400
200 4500 2300 1800
225 3600 2300 1800
250 3600 2300 1800
280 3600 2300 1800
315 3600 2300 1800
355 3600 2300 1800
400 - - 1800

. HesilETHEEEM DESR, flln, 3NABAREN, £
QA FREN RN SR R BATEREA MR LIS EERE R
BB E B0 RE D ot S, R o T RE S IR o R ST H0ith & (a] B B
BT B RS REF S

Note: When the motors run above the rated speed, for example,
using in speed controller, the noise and vibration will increase. In
this situation, the motors are required to be corrected to satisfy
the acceleration ability above the rated speed. Besides, the
bearing lifetime will decrease. Pay attention to the time for adding
the oil and grease to insure its lifetime.

HBEF @ Grease life (Horizontal installation)

HLEES Frame size

B# Poles
% hn i B 203 & 978888 Grease for permanent lubrication bearing

iE g BE & Grease lifetime up to CT 40C

80~225 | 2,46 | 20000 /1\B¥ (h)(B3 &3 )
AT AR A EEE Grease for regreasable bearing
250 2,4,6 2000 /N8 (h)
280~315L 2 2000/\87 (h)
280~315L 2,6 4000/\B7 (h)
315A~35656 2 2000/\87 (h)
315A~355 4,6 3000/)\87 (h)
400 6 3000/\B7 (h)

iE: Note:

1. SHEERESAE 10°C, B RS G MURER BN ERE— ¥,

2. 20000 /hiE AT B KR EE RS,

QCOMOTORS
3

1.If the coolant temperature is increased by 10K, the grease lifetime and regreasing interval are hahved.

2.20000 h apply to horizontally installed motors with coupling transmission.

Website | http://www.tecochina.net

78R Site altitude above sea level I E c o

1. BN TR E RS S & foh &4 T4k The changes of the output of the motors for the environmental temperature and elevation.
2. EHER =FEHEX ZH % Available power = rated power X coefficient

Max. permitted power in relation to coolant temperature und absolute altitude

absolute altitude above sea level

Coolant

temperature 1000m 1500m 2000m 2500m 3000m 3500m 4000m 4500m
(air) Max.permitted power /Rated power Py
00T 1.07 1.04 1.01 0.98 0.95 0.92
10T 1.10 1.07 1.04 1.01 0.98 0.95 0.92
20T 1.10 1.07 1.04 1.00 0.96 0.92 0.89 0.86
30T 1.06 1.02 0.97 0.93 0.89 0.85 0.81 077
40C 1.00 0.96 0.91 0.86 0.81 0.76 0.71 0.66
50T 0.90 0.85 0.80 0.75 0.70 0.65 0.60 0563
60T 0.80 0.756 0.70 0.65 0.60 0.54 0.47 0.40
’g P S e s S Rt M Sty T
g o7 \:::: — I S m
3
% 06 \ \ \\.L -\"""'--...___ — 2500M
3 A S "
g °° T | —— 4000m
E 04 \

03
00C 10T 20C 30C 40C 50C 60C
Coolant temperature (air)

&% SRS, IESHE, SRR E, AL SN RS, ABEEET, RIEDAEERIERE,
Note: In high altitude areas , due to the thin air, the effect of cooling is bad .The temperature rise must be decreased to prevent the motors
from destroyed over temp to ensure the motors to run safely.

Z%HIL (IM)

R 24t IRRY Mgt ARENT Bt
IM 1001(M B3) | IM 3001(IM BS) '_l' IM 2001 (IM B35) '_l'
= - N
K h K4 BImE
K B -&—J D Fiange _[ Gl _[.Q,_
IM 1051(IM B6) — ] IM 3011(IM V1) ) IM 2011(IM V15) ]
=i TR I:]
7Kg TEE A bR o
BRI s a i J 5 Flonge = i PR ==
IM 1061(M B7) — IM 3031(IM V3) []__I IM 2031(IM V35) |]_|
—
: — e TR I::] '
Kt T W .
BT £ s e i SR %’ﬁgﬁfﬁgﬁﬁg -
IM 1071(IM B8} o IM 3601(IM B14) L ] IM 2101(IM B34) L ]
S — - 4 -
Kk Kb 2
BIME R AEAR C Flange —1 J RONE i I_I._ — _J
C Flange
IM 1011(IM V) 1] IM 3611(IM V18) ] IM 2111(M V17) )
FE G '
Exw ﬂ B A :
S BN i C Flange =T T i
IM 1031(IM V6) Il IM 3631(IM V19) I IM 2131 (IM V37) il
L [
" T
EE b ' T R : - '
S LB E] C Flange e LA S E]
{ L]

Website | http://www.tecochina.net

TECOMOTOy
4



582 ML E#
Force fan motors data

B — ( Fr#80~250 )

T AN
Terminal box data

n#*szSH
Space Heater

E = ( Fri¥280~315 )

TR S

BE= { Fr#355~400 )

380 5 0.1 280 12
80 e 50 3 0 58 5
90 <E 380 50 35 0.1 2800 91 125
4P—-6P :
100 L 380 50 40 0.1 2800 142 125
4P—6P '
2P
112 380 50 45 0.1 2800 229 124
4P-6P
2P
132 380 50 45 0.25 1400 337 171
4P—-6P
2P
160 380 50 50 0.25 1400 609 166
4P—6P
2P
180 £ 380 50 75 0.25 1400 686 168
4P-6P
2P
200 380 50 100 03 1400 1679 90
4P—-6P
225 A8 380 50 120 0.35 1400 1786 124
4P—6P
2P
250 380 50 230 07 1400 1813 144
4P-6P
2P
280 380 50 750 188 1425 1500 209
4P-6P
315S/MIL i 380 50 750 1.88 1425 2400 204
4P—6P
315ACD 2 380 50 1500 334 1430 3600 il
4P-6P 421
3565 2P 380 50 1500 3.34 1430 3600 99
4P—-6P 281
400 / 380 50 1500 334 1430 3600 /
6P 241
meomas Website | http://www.tecochina.net

& — ( Fr#80~250 )

In &
Number of Contact
terminals SCrew
thread

1 5
R

sheERY
H# (mm)
Quter cable
diameter
{ sealing range )

BESHASH

(=
Cable entry

size (Gland )

=

E— ( Fr#280~400 )

S Rt Outline(mm)

B

Cc

B A RS SE

BhmA A &
(Spaces heater type)

P

80 4; = 10, 220V, 15W
= 6 M5 13~18 PF3/4" 56 100 92

U e 1®, 220V, 20W
P

100 4: = 10, 220V, 30W
é; 6 M5 13~18 PF3/4" 71 110 98

112 e 1®, 220V, 40W
p

132 4; =5 1®, 220V, 50W
é; 6 M6 18~25 PF1" 88 155 137

160 (o5 1®, 220V, 6B0W
P

180 4; o 6 M6 24~32 PF1 1/2" 105 173 167 |1 ®, 220V, 80W

200 4P2P6P 6 M8 35~45 PF2" 122 218 203 | 1®, 220V, 80W

225 4P2P6P 6 M8 35~45 PF2" 147 256 245 |1 ®, 220V, 100W

250 4P2P6P 6 M10 68~77 PF3" 214 323 290 |1 ®, 220V, 100W
2P

280 | 4o en 6 M10 46~52 M63X1.5 290 405 296
25 1@, 220V, 150W

315 6 M10 46~52 M63X1.5 290 405 296

4P-6P

355 4P2P6P 6 M10 46~52 M63X1.5 305 493 375 |1 ®, 220V, 200W
2P

400 | o oo 6 M10 46~52 M63X1.5 305 493 375 |1 ®, 220V, 250W



s2#R =% Nameplate AR F Bearing temperature rise I E c o

( A S
— ¥ ]
IEC@‘*H?HMW& i _ \
O ons 0 i T rerr—— O R A (R L o A B9 SER R P B A B U AR
v, : . i 0l NRHFRFRRARRREFEPSHIRNRFE, SRR ILES, FORENHRENFER, TR
A8 1 hpo. 76kw [FAAY 1. 01r 55 BEIEH,
Ui 50 mlz B siEEF| . WBHREF RERERBERE, NIRRT ENRMAREREA L, FTOREEDT .
L /
F 2 20/380 v A A B
3 = 3 £
Bikd 1425 t/hia i : AN EORE 95°C  100°C
] 79. 6 v lzI nzI nI i WUz V1 :
ik 74,5 e vievie 4| uie vie rie
§ K| 6204zz/620422 et ATTENTION!
If the rate of rise in temperature is excessive or if the mo tor exhibits excessive vibration or noise,it should be shut
!ﬁlil P2145025001 17 kg[2014
# cB3/1E2 [ERRE[0/320217A0V06- 2012 down immcdiatcly and a thorough investigation made as to the cause before it is operated again.
O - O Following the initial start—up, the bearing temperatures should be closely monitored. The rate of rise in bearing temperature
ﬂ ‘ E 7": g m ﬁ BE NS j is more indicative of impending trouble than is the actual temperature.
- J/
3CHMN If the bearing temperature rise and motor operation appear to be normal, operation should continue until the bearing
temperatures stabilize.
4 — “
T EC@ = H B ¥ B 8 M4 Recommended limits on bearing temperatures are as follows:
O 1—PHASE INDUCTION MOTOR O
PTOYLPEES - F: S ':2?:; — szssooss — Anti—Friction Bearings. Alarm temperature Trip temperature
W oUTPUT| 100 hp 75 kW| S.F |1.0] 1P| 55 By permanently installed detector 95T 100C
\J| 50 pating| S1 [ins] F
VOLTS 380 A | A s
AMP’S 137, 380 V= v z
t/min 1480 N g Vi |5 (M Uz Vi °
EFF 94.0 ulIH nI 5 lle Vie Ve >
cosé 88.5 2] ¢ ¢ t(c| & ¢ # K
BEARINGS| NU316/6313 LINE |T] LINE
SERN0.| PT145681001 562 kegl20 14
Bli-Grade] GBI /TE2 [DESIGN] Q/320217ACV05-2012
— n ——
o | MBRIXBREBRLS |
L WUXI1 TECO Elec. & Mach. Co., Ltd. )

AR (FRAC )

4 ™
L TECO@ = # &5 & # #]
I TEGH25081—48 3] AEEFF3———o
W% 4 [ [ 2508
i9% 100 hp 75 kw |RKEE 1.of1p [ss
UHE} 50 Ha (¢ B s1 (8 K[ * )
EgR 380 v A A :
Brgi 137. A | 380 v]# v z
LELE: 1480 1t/ i :
i 96 0 %7 | e Vg e 1 | Mo lte V2 2
I 88,5 e nIi Ile Vie Ve
R A| NU316/6313 * ot
PEER| pr145681001 562 kgla0 14
L34 cry/te2 [RERE[Q/320217ACV05- 2012
©  mEBRTERERLD | O

R (F6R%E )

TECOMOTORS TECOMOTORS,
7\ Website | http://www.tecochina.net Website | http://www.tecochina.net A



T58ERA Saving Efficiency Instructiongs

it

L

A WX = ~
B MAETEIHE

=kw X
@ THEITEAR:

51: 37kw, 4P, ZE{FFI8000hr kY,

HHR K

El: FRHERE, E2: S3FE
(1) BRAE=FERAE+IEFERAE

() BFIEFHBENRATE (L E1—E2 )
(100/E1—100/E2) X i=%5RT#/F X BN/ E

BT OR B R 91, 2% FS R 02. 7 %Y
EHEETN:

37 X (100/91.2—100/92. 7)

C BHRDIERFER

LA
I8 & PR

El : &% A
*,. B2 : 5 A

Kk m: KA

B2 R
Y

Al UV SO B2 i EAA

El: An R4
-

WEREXNELFR Comparison of efficiency standards

"

X 8000 X 1=52527T

M P o m— -

MEGEXXiR1R

CHINA ENERGY LABEL
srman EBETANAMA

1)
I EN

SEAR R AN B R R B . =
MBS, BE. BEDEM
% W55 e .

RIEE RIFHE: GB18613-2012

Model: TEGH/TVGH

X5 e [E (GB18613-2012) Jb3E (NEMA) | EC60034-30: 2008
3% | 2% | 14 | EPAct | Premium IET IE2 | IE3 | IE4
B EME Super Premium © o
B EME Premium © O o)
E30K High Effiency (¢} o o
—RRRE ©
N

E= Noise levels

TECO

BEZ23E
rfmin
3000( 2 %% ) 1500( 4 4% ) 1000( 6 #& )
dB (A) L/l
0.75 78/68 66/56 63/53
15 78/68 66/56 64/54
2.2 78/68 70/60 70/60
3.7 83/73 72/62 73/63
5.5 85/75 75/65 73/63
7.5 85/75 75/65 73/62
11 87/76 77/66 73/62
15 87/76 77/66 77/66
18.5 87/76 80/69 77/66
22 88/77 80/69 77/66
30 88/77 80/69 80/69
37 90/79 83/72 80/69
45 90/79 83/72 80/69
55 92/81 84/73 82/70
75 92/81 85/74 82/70
90 92/81 85/74 83/77
110 93/81 92/80 84/78
132 94/82 93/81 84/78
160 94/82 93/81 85/79
185 96/90 92/80 82/75
200 96/90 92/80 92/85
220 99/92 89/77 92/85
250 100/92 89/77 93/85
280 100/92 93/85 86/77
300 100/92 93/85 89/80
315 100/92 93/85 94/88
355 100/92 99/90 95/88
375 100/92 99/90 95/88

‘%iii I—pfa_EEé&
Ly SRR
MXEEE A 1M,
£ 50HZ BB T, FEH +3dB

Website | http://www.tecochina.net

L,—sound pressure level

L,,—sound power level

1M away from the motor,

standard rated output at 50Hz,and the tolerance is + 3dB

TECOW
10



42 Product Code
1 2 3 4 5 6 7 8 9101121314 1B 16 17
* O H% O 0 CHEBHEREOO®®

GB3(IE2)-Model: TEGH/TVGH

Type: AEEFF3/AEVFF3,AEHDF3/AEUJF3,AEJEF3/AEJUF3

I— HERS: BF. FE. REFFEAS (=)

WMERS: 2 IFERT
Sh# 48T or FHET
R¥. 2 e RE

F1:
F2.
F3:

EV:
uv:
EF.
VF.

GB18613-2012,1 e

GB18613-2012,2 AR
GB18613-2012,3 AR

V REMERE
V RZFk2 a5
HD. JE.: HigE%s
UJ, JU: R R

MB: HEEZR% (GB-2)

MV
£mE
=HAR B

E:
A

EEZRE (GB-2)

TECO

FIrmBuER A EE
GB18613-2012 B 1~3 4
EHEE
FAN RHEINE
S01 F {0 6 255 7%
S1- NSK %7
S1F SKF &%
WA7 Bt A~ g5 B M == SUS304 )
| %
Y02 ALE IR % , NI 4
YB5 BAETNE
U
-H2 FHRAP AT
011 VAIEREE (TAFEERZM )
AP— [EREESE
AY-— %Rl - 40°C~ —15C )
B02 V A& T AT, B HERFLIBA (#m )
B11 T fHE FLEAAE AL (T fERE fobrfk )
FMI1 V AN ( T m s THEES)
FM2 V A& H 4 ( T e T A )
VF1 P SPM HRzni84%
YF— BHRSHE (TRBRE )
Hitt FHET: ZRE)
NF- SRIESE4R 156(F) , {#/ 166(F) , S GRS R (SF1.15)
NF3 R LR 165(F) , £ 166(F) , A E RS F$ (SF1.1)
NF7 SF1.15 , SKF 47
S1Y NSK 7&K , LR AR %
TH3 Miea #0232 ( 45 220V ), NSK #h&
TH4 Miea 38 ( 548, 220V ), SKF #&
THB M #has ( 543, 220V), HB/NT 5
T Miea 33 ( E4H , 220V ), BIRIPEE (146° C)
TK— Bifes#h38 (B 220V ), €848 R.T.D ( PT100Q/0° C)-3PCS/SET
TK2 ME33hIR ( E4H | 220V ), €64 R.T.D ( PT100Q/0° C)-6PCS/SET
TLB Fii#FE{& ( PTC160 ) — 3pcs/set, i/ T £
TM5 HtFABE{E ( PTC160 ) — 3pcs/set, B 88 ( 48, 220V)
TN- FiFaFA{AR ( PTC160 ) — 3pcs/set, EHAER ( &4, 220V ), 2241 R.T.D ( PT100Q/0° C )-3PCS/SET
TRS Mi%e4E R.T.D ( PT100Q/0° C)-3PCS/SET, NSK fh&
VS- B IR, iF{RIPER 145°C
VS2 B4 T4 4, BHPTC 160°C, SF1.15
VS6 B4 = 4 4 EE, BfPTC 160°C
VSD BT AATE, M RIPEE 145°C, SKFHhK
VSF B4 T4 AT, BEPTC 160°C, $8/E 55
VSH B4 T ANE, SFH R IPER
WA- B ( HBTE , DIAER)
WA2 B (R R R, DikHEE )
—WA B (BB E  BiAark)

LRI remriE R E
GB18613-2012 BE 1~3 &
15-17
A ik
——= | #r
RAFIEB LR
CA- =g Uaged
CA1 RSN WF1 )
CA2 Bt WF2
CA3 EERE
PA3 R A IPE6
SR- Ff4hA R.T.D (PT100Q/0° C)-2PCS/SET. B ai{¥i&E M Fré=280)
TH- Fiea s (%48, 220V)
TL- AR ( PTC160 ) — 3pes/set
TL2 FiHFAPE{R ( PTC160 ) - Bpes/set
TP- FiFARIPES (145° C)
TR- Fif42¢8 R.T.D ( PT100Q/0° C)-3PCS/SET
TR1 fi£eed R.T.D (PT100Q/0° C)-6PCS/SET
MG TG
—H- H 44
-L1 K314 1m(T EEEER ), FEE Byl —_BH &, BT
005 AR ALK
g
BF - TE=A
BH- T#R [
CF- C-Face Flange { /\i&22 )
LC- FEENAFE ( D Falange ) ——— IM B35
FO1 BRRAE
FO2 PN E SUS304 )
N

Website | http://www.tecochina.net

TECOMOT(?
1z



ﬁﬂi% Data Sheet

FZ IS Z B (F Series High Efficiency Motor)
Type: AEEFF3/AEVFF3(Fr#80M~250M) GB 18613-2012 GB3 (IE2)

R

hERELY

Hift

iE

380V 50HZ

HEES

FRAME FULL

NO.

EFFICIENCY

(%)

3/4

1/2

(%)

%'ﬂi% Data Sheet

F %515 3Z B #1(F Series High Efficiency Motor)
Type: AEHDF3/AEUJF3(Fri#280S~Fr#315L)

[T

hEE

POWER FACTOR

FULL

(%)

3/4

1/2

(%)

M
CURRENT

(A)

%FLC

FULL LockeD FULL
LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTCR LOAD

kg-m

HiE
TORQUE

LockeD PULL BREAK

ROTOR

%FLT %FLT

uP

TECO

380V 50HZ
GB 18613-2012 GB3 (IE2)

DOWN

%FLT

By BE =&

fHE

ROTOR NOISE APPROX.
. SOUND WEIGHT

~  POWER
GD
NO-LOAD

kg-m? 9BA) kg

HEES  EFFICIENCY POWER FACTOR ~ CURRENT TORQUE ag| W uE
FULL FRAVE FULL 34 1/2 FULL 34 12 FULL Lo FULL Lockd PULL BREAK | o SOUND WEGHT

LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN GD :ft“i:
rpm (%) (%) (%) (%) (%) (A) %FLC kg-m %FLT %FLT %FLT kg-m? 9B(A) kg
2865 | 80M |774 | 758 |726 | 845 | 775 | 66.0 | 1.74 | 630 | 0253 | 225 | 200 | 280 | 0.005| 78 | 15.0
075| 1 |1425 | som |796 |795 771 | 745 [ 655 | 51.5| 192 | 690 | 0512 330 | 320 | 350 | 0.011| 66 | 17.0
935 | goL [759 | 758 | 735 | 73.0 | 635 | 505 | 2.06 | 480 | 0.776 | 170 | 170 | 220 | 0.018| 63 | 215
2845 | 90L [81.3 | 815 |805 | 90.0 | 86.0 | 755 | 3.11 | 650 | 0510 | 220 | 170 | 250 | 0.010| 78 | 220
15| 2 |1430 | 9oL |828 |825 815 | 820 | 740 | 61.0 | 336 | 715 [ 1.021 | 240 | 230 | 300 | 0.020| 66 | 24.0
955 [100L [79.8 | 791 | 773 | 715 | 635 | 500 | 3.99 | 550 | 1520 | 165 | 130 | 230 | 0.044| 64 | 350
2840 | 90L [832 |84.0 |83.0 | 895 | 850 | 755 | 4.49 | 750 | 0767 | 265 | 230 | 300 | 0.013| 78 | 245
22| 3 |1455 |100L |84.3 | 846 829 | 79.0 | 71.0 | 580 | 502 | 790 | 1497 | 215 | 175 | 2900 | 0.041| 70 | 35.0
945 [112m [81.8 | 808 | 796 | 755 | 675 | 54.0 | 541 | 570 | 2304 | 205 | 175 | 245 | 0.071| 70 | 450
2880 |112M |855 | 865 (854 | 90.0 | 87.0 | 79.0 | 7.31 | 855 | 1250 | 240 | 210 | 320 | 0.038| 83 | 410
37 | 5 |1435 [112m 863 | 87.0 |87.0 | 850 | 816 | 727 | 7.73 | 830 | 2529 | 220 | 150 | 290 | 0.076| 72 | 46.0
965 [1325 [84.3 | 843 | 828 | 760 | 685 | 550 | 8.78 | 730 | 3.761| 180 | 180 | 270 | 0.131| 73 | 60.0
2925 (1325 |87.0 |87.0 |857 | 855 [ 815 | 73.0| 11.2 | 690 | 1.861 | 190 | 145 | 250 | 0.057| 85 | 575
55 | 75 | 1460 [132s |87.7 | 878 | 863 | 815 750 | 63.0 | 11.7 | 775 | 3729 | 255 | 190 | 320 | 0.113| 75 | 620
965 [132M [86.0 | 853 | 829 | 720 | 635 | 500 | 135 | 690 | 5.641| 210 | 160 | 280 | 0.171| 73 | 780
2905 |132S |88.1 | 886 |87.6 | 845 [ 805 | 715 | 153 | 660 | 2499 | 190 | 165 | 250 | 0.066| 85 | 68.0
75 | 10 | 1465 |132m |88.7 | 89.0 | 888 | 855 | 80.5 | 70.0 | 150 | 760 | 4.955 | 230 | 165 | 280 | 0.133| 75 | 73.0
960 [160M [872 | 88.0 |87.0 | 815 | 76,5 | 66.0 | 16.0 | 600 | 7.561 | 210 | 185 | 225 | 0363| 73 | 113
2940 [160M 894 | 894 (886 | 915 | 89.0 | 83.0 | 20.4 | 830 | 3703 | 220 | 155 | 270 | 0.154| 87 | 104
11 | 15 | 1465 [160M |89.8 | 90.1 | 895 | 885 | 850 | 775 | 21.0 | 730 | 7432 | 205 | 155 | 255 | 0.207| 77 | 113
965 |160L 887 | 892 | 886 | 815 | 76.0 | 65.0 | 231 | 685 | 11.28 | 245 | 230 | 270 | 0558 73 | 130
2925 [160M |90.3 | 903 | 902 | 93.0 | 915 | 88.0 | 27.1 | 765 | 4963 | 230 | 155 | 240 | 0.192| 87 | 122
15 | 20 | 1470 [160L |90.6 | 913 | 905 | 865 | 825 | 735 | 201 | 785 | 9.876 | 235 | 185 | 280 | 0.396| 77 | 130
975 [180M [89.7 | 89.7 | 884 | 800 | 740 | 625 | 31.8 | 760 | 14.89| 265 | 185 | 315 | 1.342| 77 | 194
2945 | 160L |90.9 | 917 | 905 | 925 | 905 | 86.0 | 33.4 | 880 | 6.162 | 265 | 175 | 280 | 0237| 87 | 135
185 | 25 | 1470 [180M [912 | 920 |91.0 | 850 | 825 | 755 | 36.3 | 630 | 1234 | 180 | 175 | 275 | 0.654| 80 | 170
975 [180L [90.4 | 905 |91.0 | 825 | 785 | 695 | 37.7 | 710 | 18.46 | 240 | 200 | 250 | 1534 77 | 220
2945 [180M [91.3 | 915 |91.0 | 90.0 | 88.0 | 825 | 40.7 | 800 | 7.394 | 220 | 175 | 280 | 0283| 88 | 184
22 | 30 | 1475 |180M |916 | 918 | 915 | 840 | 805 | 725 | 434 | 710 [ 1476 | 195 | 150 | 230 | 0.712| 80 | 178
975 |180L [90.9 | 910 |915 | 840 | 820 | 75.0 | 43.8 | 620 | 21.95| 230 | 190 | 260 | 1.725| 77 | 229

QCOMOTORS
13

Wehbsite | http://www.tecochina.net

2935 | 180L | 92.0 | 91.5 | 91.0 | 87.5 76.0 | 56.6 | 745 | 9.945 | 240 | 190 | 300 | 0.358 | &8 198
30 40 | 1475 | 180L | 92.3 | 925 | 925 | 84.0 | 81.0 | 73.0 | 58.8 | 725 | 19.79 | 240 | 230 | 290 |1.003 | 80 225
975 | 200L | 91.7 | 92.0 | 915 | 86.0 | 83.5 | 76.0 | 57.8 | 615 | 29.78 | 175 | 155 | 210 | 2442 | 80 a2
2945 | 200L | 925 | 920 | 915 | 875 | 84.0 | 76.0 | 69.5 | 745 | 1222 | 180 | 160 | 290 |1.018 | 90 300
37 50 | 1480 | 200L | 92.7 | 92.8 | 92.1 | 87.0 | 84.0 | 77.0 | 69.7 | 710 | 24.52 | 190 | 160 | 245 |1.649 | 83 300
980 | 200L | 92.2 | 915 | 91.0 | 84.0 | 805 | 71.5 | 726 | 640 | 36.74 | 210 | 190 | 240 |3.256 | 80 356
20965 | 200L | 92.9 | 92.3 | 909 [ 90.5 | 87.5 | 81.0 | 81.3 | 875 | 14.69 | 160 | 155 | 320 |1.074 | 90 300
45 60 | 1475 | 200L | 93.1 | 93.3 | 929 | 86.5 | 83.5 | 76.5 | 84.9 | 690 | 29.53 | 190 | 160 | 270 |1.731| 83 315
980 | 2268 | 92.7 | 92.5 | 92.0 | 86.5 | 84.0 | 77.0 | 85.3 | 685 | 44.68 | 200 | 170 | 240 | 4.376 | 80 419
2970 | 22565 | 93.2 | 934 | 93.1 [ 91.0 | 90.0 | 855 | 985 | 735 | 18.33 | 135 | 115 | 295 |1.211| 92 380
- - 1480 | 2255 | 93.5 | 93.0 | 93.0 | 87.0 | 85.0 | 81.0 | 103 | 680 | 36.16 | 250 | 200 | 250 [3.186 | 84 407
985 | 250S | 931 | 93.2 | 924 | 815 | 76.5 | 66.0 | 110 | 695 | 54.33 | 200 | 160 | 260 |6.492 | 82 553
985 | 280S | 93.1 | 93.0 | 924 | 840 | 815 | 73.5 | 107 | 650 | 54.41 | 150 | 130 | 230 | 8.800 | 88.5 | 650
2965 | 250S | 93.8 | 93.8 | 93.1 | 88.0 | 855 | 785 | 138 | 745 | 2461 | 130 | 110 | 280 |1.759 | 92 492
- . 1480 | 250S | 94.0 | 935 | 93.0 | 885 | 87.0 | 815 | 137 | 680 | 49.31 | 170 | 150 | 250 |4.853 | 85 562
985 | 250M | 93.7 | 93.0 | 925 | 845 | 815 | 73.0 | 144 | 645 | 74.09 | 190 | 160 | 240 |8.175| 82 637
985 | 280M | 93.7 | 93.6 | 93.0 | 845 | 82.0 | 73.5 | 144 | 650 | 74.20 | 150 | 130 | 230 |10.80 | 89 700
2970 | 250M | 94.1 | 94.0 | 93.3 | 88.0 | 85,5 | 78.5 | 165 | 815 | 29.48 | 170 | 140 | 340 | 2.199 | 92 568
2065 | 280S | 94.1 | 94.0 | 93.3 | 90.0 | 89.0 | 84.5 | 161 | 700 | 29.58 | 160 | 140 | 250 | 2.400 | 92.5 | 590
90 125 | 1480 | 250M | 94.2 | 93.5 | 93.0 | 88.0 | 86.0 | 79.5 | 165 | 755 | 59.17 | 190 | 150 | 240 |5.393 | 85 608
1480 | 280S | 94.2 | 94.1 | 934 | 87.5 | 86.0 | 80.0 | 166 | 690 | 59.26 | 160 | 140 | 250 | 6.400 | 91.5 | 650
985 | 3158 | 94.0 | 94.0 | 93.0 | 850 | 825 | 745 | 171 | 650 | 89.04 | 160 | 135 | 220 | 13.50 | 83 900
2070 | 280M | 94.3 | 94.2 | 93.2 | 0.5 | 89.0 | 84.0 | 196 | 680 | 36.09 | 150 | 130 | 250 | 2.500 | 93 700
110 | 150 | 1485 | 280M | 94.5 | 94.5 | 93.5 | 87.5 | 85,5 | 79.0 | 202 | 650 | 72.18 | 150 | 130 | 250 |7.500 | 92 720
985 [315M | 94.3 | 943 | 93.2 | 845 | 815 | 73.0 | 210 | 650 | 108.8 | 160 | 135 | 230 | 13.00 | 84 950
2970 | 3158 | 94.6 | 946 | 93.5 | 90.0 | 88.0 | 83.5 | 236 | 670 | 43.31 | 130 | 115 | 230 |4.500 | 94 900
132 | 175 | 1485 | 3155 | 94.7 | 94.6 | 93.5 | 87.5 | 86.0 | 81.0 | 242 | 650 | 86.62 | 150 | 130 | 230 |10.50 | 93 900
985 | 315M | 94.6 | 94.5 | 93.5 | 85.0 | 83.0 | 76.0 | 249 | 650 | 130.6 | 160 | 135 | 230 | 19.00 | 84 |1,000
2970 | 315M | 94.8 | 94.8 | 94.0 | 90.0 | 89.5 | 84.5 | 285 | 670 | 52.50 | 150 | 130 | 230 | 5.500 | 94 |1,000
160 | 215 | 1485 | 315M | 94.9 | 94.8 | 94.0 | 87.5 | 85.8 | 79.0 | 293 | 685 | 105.0 | 150 | 130 | 230 |12.00| 93 |1,100
988 | 315L | 94.86 | 948 | 940 | 848 | 825 | 75.0 | 302 | 650 | 157.8 | 135 | 115 | 230 |22.50 | 85.5 |1,250
2970 | 315M | 95.0 | 95.0 | 94.2 | 0.0 | 89.0 | 84.2 | 329 | 710 | 60.70 | 150 | 130 | 250 |8.000| 96 |1,150
185 | 250 | 1485 | 315M | 95.1 | 951 | 94.2 | 88.0 | 86.2 | 79.5 | 336 | 700 | 121.4 | 160 | 140 | 250 | 1960 | 92 |1,150
988 | 315A | 95.0 | 85.0 | 94.2 | 850 | 82.0 | 74.2 | 348 | 680 | 1825 | 180 | 160 | 260 | 31.20 | 825 |1,450

Website | http://www.tecochina.net

TECOMOT(?
14



42 E Outline T E c o

414 3% Data Sheet MY R 23 R 2353t B3 (IM 1001 )

FZ %53 #1(F Series High Efficiency Motor) 380V 50HZ
Type: AEJEF3/AEJUF3(Fr#315A~Fr#400A) GB 18613-2012 GB3 (IE2)

e hEEYN i 23] 3
2% nms EFFICIENCY POWERFACTOR  CURRENT TORQUE g | - | N ']F

NOISE APPROX.
FULL FRAME FULL 3/4 1/2 FULL 3/4 1/2 FULL LlockeD FULL Lockep PULL BREAK », SOUND WEIGHT

LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN POWER 11

NO-LOAD *

rpm (%) (%) (%) (%) (%) (%) (A) %FLC kg-m %FLT %FLT %FLT dB(A) kg

|
2970 | 315L | 95.0 | 95.0 | 94.1 | 91.0 | 90.5 | 885 | 351 690 | 65.62 | 130 115 230 | 6.400 | 96.5 | 1,200 T T i !
T T
200 270 | 1485 | 315L | 951 | 95.0 | 942 | 885 | 86.5 | 81.0 | 361 680 | 131.2 | 150 130 240 | 1440 | 925 | 1,200 £= BB T f BB b T £ |"+"|
KK HOLE @$KK HOLE
985 | 315C | 95.0 | 950 | 94.1 | 86.5 | 84.0 | 785 | 370 650 | 197.3 | 150 130 240 | 40.80 | 92.5 | 1,700 4—pK HOLES —-|i|-— 4—¢K HOLES _..|:__||.._
2975 | 315A | 95.0 | 950 | 941 | 91.2 | 905 | 88.8 | 386 700 | 7210 | 135 | 120 240 | 8.800 | 99.5 | 1,400 y < 7 P
- - _| -
220 300 | 1485 | 315A | 95.1 | 950 | 94.2 | 89.0 | &7.0 | 81.5 | 395 145 | 144.4 | 145 | 130 240 | 20.40 | 89.5 | 1,450 © v v v
988 | 315C | 95.0 | 950 | 941 | 86.5 | 84.5 | 79.0 | 407 150 | 217.0 | 150 | 130 240 | 43.20 | 92.5 | 1,800 LG 1 DH TaAP P"rD Fl G 2 CH TAP cﬂ‘D

2975 | 315C | 95.0 | 95.0 | 94.1 | 91.5 | 90.0 | 87.5 | 437 | 720 | 81.89 | 130 | 115 | 240 | 10.00| 100 [ 1,650
1485 | 315C | 95.1 | 95.1 | 94.3 | 90.0 | 88.5 | 84.5 | 444 | 720 | 164.1 | 150 | 130 | 240 | 26.00 | 89.5 | 1,750

250 | 335
988 | 315D | 95.0 | 95.0 | 94.1 | 86.0 | 85.0 | 785 | 465 | 680 | 246.6 | 150 | 130 | 240 | 44.00| 93 |[1,900
990 | 355A | 95.0 | 95.0 | 94.1 | 88.0 | 87.0 | 835 | 454 | 680 | 2466 | 110 | 115 | 230 | 6120 | 86 [2.080 a W HUES
2975 | 315D | 950 | 94.9 [ 04.1 | 915 | 91.0 | 890 | 489 | 710 | 917 | 130 | 115 | 240 | 11.20] 100 | 1,830 Output (kW) FRAME
1485 | 315D | 95.1 | 95.1 | 94.3 | 90.5 | 895 | 86.5 | 494 | 690 | 183.7 | 180 | 160 | 240 |3040| 93 |1.930 _ _, _
280 | 375 P 4P 6P SIZE
1485 | 355A | 951 | 951 | 943 | 91.0 | 905 | 88.0 | 492 | 700 | 183.7 | 120 | 128 | 230 |3760| 99 |2,000
988 | 355A | 95.0 | 95.0 | 942 | 88.0 | 87.0 | 835 | 509 | 670 [ 2762 | 120 | 128 | 230 | e8.80| 86 [2.150 0751075 | - 80M ] 12513551 155 [ 177 | 144 | 112 | 100 | 130 | 50 | 80 f 90 | 168 | — | 55
2975 | 315D | 950 | 94.9 [ 94.1 | 92.0 | 915 | 900 | 522 | 700 | 5215 | 130 | 115 | 240 | 12.80| 100 | 1,860 5| 15|05 90L 140 | 355 | 170 | 200 | 157 | 125 | 125 | 150 | 56 | 90 [ 100 190 | — | 65
200 | aop | 1482|3150 | 951 | 951 | 043 | 905 | 900 | 870 | 530 | 690 | 1973 | 170 | 150 | 230 | 3040 93 |1,960 N PP T ol Fsllze Dol ael o D mll w Lan leel |l = e | =
1485 | 355A | 95.1 | 951 | 94.3 | 91.0 | 905 | 88.0 | 527 | 700 | 196.9 | 120 | 128 | 230 |40.00| 99 |2.050
37 | 37 | 22 112M 190 | 45 | 224 | 238 | 189 | 154 | 140 | 175 | 70 | 112 | 140| = | 265 | &3
988 | 355A | 95.0 | 95.0 | 94.2 | 88.5 | 88.0 | 84.0 | 542 | 660 [ 2959 | 110 [ 115 | 220 | 61.20| 89 [2460 2
55
2975 | 315D | 95.0 | 95.0 | 94.3 | 91.0 | 90.0 | 87.0 | 554 | 710 [ 1032 [ 130 | 115 | 230 [ 11.50| 100 |1,900 75 | 92| 37 1328 216 | 45 | 250 | 273 | 224 | 180 [ 140 | 175 | 89 [ 132 ) 16.0| — | 310 | 83
2978 | 355A | 95.0 | 95.0 | 94.4 | 92.0 | 91.5 | 90.5 | 548 | 700 | 103.1 | 120 | 128 | 250 | 16.00| 100 |2,000 -~ | 75] 55 132M 216 | 45 | 250 | 273 | 224 | 180 | 178 | 212 | 89 | 132 | 60| — | 310 | &3
315 | 422 | 1485 | 315D | 951 | 951 | 94.4 | 905 | 89.5 | 86.0 | 556 | 700 | 206.7 | 150 | 130 | 230 | 33.00| 93 |2.000 T B R
1485 | 355A | 95.1 | 951 | 94.4 | 91.0 | 905 | 885 | 553 | 700 | 206.7 | 120 | 128 | 230 |42.40| 99 |2.100 Sl s senilde
988 | 355C | 95.0 | 95.0 | 94.3 | 895 | 888 | 84.0 | 563 | 660 [ 3107 | 115 [ 120 | 230 |68.80| 94 |[2.600 IR Zh i AF X 3 55
ED G OPPOSITE
2975 | 355C | 95.0 | 95.0 | 94.4 | 915 | 91.0 | 90.0 | 620 | 700 | 116.3 | 120 | 122 | 240 | 16.00| 100 |2,500 DRIVEEND  DRIVE END

355 | 475 | 1488 | 355C | 95.1 | 95.1 | 944 | 915 | 91.0 | 89.0 | 620 | 680 | 232.5 | 115 | 120 230 | 49.20| 99 (2,500 8OM w10 w22 282.0 925 19 40 25 6 15.5 215 MEX12 620477 620477
988 | 400A | 95.0 | 95.0 | 944 | 90.0 | 89.5 | 86.5 | 631 | 670 | 350.1 | 115 | 120 230 | 93.60| 95 |[3,000
. d ! 4 x
2975 | 355C | 95.0 | 95.0 | 945 | 91.8 | 91.5 | 90.5 | 653 | 700 | 122.8 | 100 | 104 240 | 16.40 | 100 2,600 9oL LA g 332.5 1015 2 >0 32 8 200 270 M8x16 620522 ——
375 | 503 | 1488 | 355C | 951 | 95.1 | 945 | 915 | 91.0 | 89.0 | 655 | 680 | 2456 | 120 | 128 | 230 |[49.20| 99 |2,600 100L Y12 | p28 | 3745 | 1115 | 28 | 60 | 40 8 240 | 31.0 | M10x20 620622 620622
988 | 400A | 95.0 | 95.0 | 94.5 | 90.0 | 89.5 | 87.0 | 666 | 660 [ 369.9 | 110 [ 115 | 230 | 93.60 | 95 3,100 12M | w12 | w28 | 3910 | 1210 | 28 | 60 | 40 | 8 | 240 | 31.0 | Mi0x20 | 630622 630622
iE: :12 . fb;gg ‘;;ZITGB D?é gr}eégcéc;gsfg 60034-2-1:2007.", |13 ':‘Eg Zggvsj _a;el :yg;:oz;! values based on test according to GB/T 1032 method 1328 w12 | w35 | 4540 145.0 38 80 64 10 33.0 410 | M12x24 630822 630622
3. M. I, WEMREER R K REHER. L RTE 2 Tolerance according to GB 755,IEC 60034-1. 132M | w12 | @35 | 4920 | 1450 | 38 | 80 | 64 | 10 | 330 | 410 | M12x24 | 630822 630622
ER KL, 3.Efficiency,power factor,speed and torque are the same for other voltages.
4.F#315D,355A 2P,355C,400A: {¥i& A IMB3 1 B35, Current values vary inversely with voltage. . 1 HEDA ‘ . .
IR . - R NE. $19~ ¢28. |6, $38: k6. 1.Tolerance of Shaft End Diameter D: ¢ 19~ $28: j6, $38: k6.
5. 1875 E;ﬁﬁﬁﬁﬂ'}’f}_ﬁﬂ] +3dB(A). 4.F#i_315D,355A 2P,355C,400A:Only Suitable for IM B3 And B35. 2.0 EH: +0, -05. 2 Tolerance of Shaft Center Height H: +0, 0.5 .
6. HIBMFEE AL FITEA, 5.Noise:sound power level at no-load, Tolerance+3dB(A)

6.Data subject to change without notice.

TECOMOTORS TECOMOTORS,
15\ Wehbsite | http://www.tecochina.net Website | http://www.tecochina.net AG



SMIZE Outline
SN R L% R~

AL

Le || B

HD

—

i

2 )
LI

L

AD

z(: B3 (IM 1001 )

e

—

71

ED

AT [

HD

FIG. 3

e E }
+ T
$KK HOLE

—

= <
i B
|:‘: !

4—¢K HOLES/

[
[ E !
PKK HOLE

4—¢K HOLES

FIG. 4

oM HES
Output (kW) FRAME
6P SIZE
:; 1" 75 160M : 254 50 300 | 334 | 263 | 218 | 210 | 250 | 108 | 160 18 377 | 108
185 15 1 160L 254 50 300 | 334 | 263 | 218 | 254 | 300 | 108 | 160 18 377 | 108
22 - - 180MA 4 279 75 355 | 382 | 305 | 250 | 241 | 297 | 121 | 180 | 22 | 431 | 119
- 1%25 15 180MC 3 279 75 355 | 382 | 305 | 250 | 241 | 297 | 121 | 180 | 22 431 | 119
30 = = 180LA 4 279 75 355 | 382 | 305 | 250 | 279 | 335 | 121 | 180 | 22 | 431 | 119
= 30 12825 180LC 3 279 75 355 | 382 | 305 | 250 | 279 | 335 | 121 | 180 | 22 431 | 119
i; - 200LA 4 318 80 | 400 | 458 | 362 | 299 | 305 | 365 | 133 | 200 | 25 | 499 | 129
- ir;; g? 200LC 3 318 80 400 | 458 | 362 | 299 | 305 | 365 | 133 | 200 | 25 | 499 | 129
55 - - 225SA 4 356 | 100 | 450 | 510 | 411 | 337 | 286 | 350 | 149 | 225 | 30 550 | 153
= a5 45 2255C 3 356 | 100 | 450 | 510 | 411 | 337 | 286 | 350 | 149 | 225 | 30 550 | 153
& i & &
SHAFT EXTENSION BEARING
s | e W LA
DRIVE END DRIVE END
160M p145 | ¢35 | 608.0 180.0 | 42 | 110 80 12 37.0 | 45.0 | M16%32 630927 6307ZZ
160L w145 | P35 | 6520 | 180.0 | 42 | 110 80 12 | 37.0 | 45.0 | M16x32 630927 630722
180MA p145 | P52 | 6720 | 2000 | 48 | 110 80 14 | 425 | 515 | M16x32 | 63112ZC3 63102ZC3
180MC p145 | 52 | 6720 | 2000 | 48 | 110 80 14 | 425 | 51.5 | M16x32 631122 631022
180LA P14.5 P52 710.0 200.0 55 110 80 16 490 59.0 M20x40 6312ZZC3 6310ZZC3
180LC P145 | ¢52 | 710.0 | 200.0 | 55 | 110 80 16 | 49.0 | 59.0 | M20x40 631227 631022
200LA w185 | Y65 | 7745 | 2265 | 55 | 110 80 16 | 49.0 | 59.0 | M20x40 | 6312ZZC3 62122ZC3
200LC w185 | P65 | 8045 | 2265 | 60 | 140 | 110 | 18 | 53.0 | 64.0 | M20x40 6314227 621222
2258A p185 | Y92 | 786.0 | 241.0 | 55 | 110 80 16 | 49.0 | 59.0 | M20x40 | 6312ZZC3 621227C3
2255C P18.5 P92 816.0 241.0 65 140 110 18 58.0 69.0 M20x40 6315Z2Z 6213ZZ

i WEDAE. $42~ ¢48. k6, $55~ $p65. m6.

2.@&H: +0, -05.

\{?DMWDM
17

1. Tolerance of Shaft End Diameter D: $42 ~ ¢48: k6, $55 ~ $65: m6.
2 Tolerance of Shaft Center Height H. +0, -0.5.

Wehbsite | http://www.tecochina.net

ED|

HE

#HKK HOLE

4—¢K HOLES

FIG. 5

DH TapAf. %L

FIG. 6

DH TaAP

W HLES

Output (kW) FRAME
2P 4P 6P SIZE
75 - - 250SA 6 406 | 110 | 500 | 545 | 499 | 384 | 311 | 385 | 168 | 250 | 32 | 612 | 139
- i 28 250sC 5 406 | 110 | 500 | 545 | 499 | 384 | 311 | 385 | 168 | 250 | 32 | 612 | 139
90 - - 250MA 6 406 | 110 | 500 | 545 | 499 | 384 | 349 | 425 | 168 | 250 | 32 | 612 | 139
- 90 i 250MC 5 406| 110| 500| 545| 499| 384| 349| 425| 168| 250 32 612 139

o o &
SHAFT EXTENSION BEARING
IR T i E[ b
ED OPPOSITE
DRIVE END DRIVE END

250SA Y24 92 852.5 263.5 55 110 80 16 49.0 59.0 M20x40 6313C3 6313C3
250SC 24 Y92 882.5 263.5 75 140 110 20 67.5 79.5 M20x40 NU316 6313
250MA Y24 Y2 890.5 263.5 55 110 80 16 49.0 59.0 M20x40 6313C3 6313C3
250MC Y24 P92 920.5 263.5 75 140 110 20 67.5 79.5 M20x40 NU316 6313

E: 1. #@EDAZE. $565~ ¢75. m6.

2.9i@EH: +0, -0.5.

1. Tolerance of Shaft End Diameter D

. $55~ $75. m6.

2 Tolerance of Shaft Center Height H: +0, -0.5.

Website | http://www.tecochina.net

TEOMm??V
18



SMIZE Outline
IMERRERTE Z3EHK: B3 (IM 1001 )

<
]
BB D
A7, mm BAZ: mm
#  t B
Output (kW) Output (kW) FRAME
2P 4P 6P SIZE
= e EUE R R 20| - | - 315A | 508 | 150 | 650 | 730 | 666 | 511 | 560 | 180 | 730 | 216 | 315 | 45 | 874 | 469 | 28
- | 90 | =5 2805 457 | 110 | 560 | 603 | 600 | 445 | 203 | 368 | 110 | 445 | 190 [ 280 | 30 | 651 | 82
o Y 757 110 200 1503 T 600 1225 1203 219 1130 | 205 150 [ 280 | 30 1 eo1 | & - | 220 185| 315 | 508|150 | 650 | 730 | 666 | 511 | 560 | 180 | 730 | 216 | 315 | 45 | 874 | 460 | 28
- 10| 75 280M 457 | 110 | 560 | 603 | 600 | 445 | 203 | 419 | 130 | 495 | 190 | 280 | 30 | 651 | 82 20| - | - 315¢c | 508 | 150 | 650 | 730 | 666 | 511 | 710 | 180 | 880 | 216 | 315 | 45 | 874 | 469 | 28
132 - | - 3155 508 | 115 | 615 | 625 | 610 | 455 | 305 | 406 | 115 | 490 | 216 | 315 | 40 | 743 | o7 e %gg cze | 0| el ez am Lan Tm | en La o | ez | o el || =
- |32 | 0 3155 508 | 115 | 615 | 625 | 610 | 455 | 305 | 406 | 115 | 490 | 216 | 315 | 40 | 743 | o7 -
] - = 315M 508 [ 115 [ 615 | 625 | 610 | 455 | 305 | 457 [ 115 [ 540 | 216 | 315 [ 40 | 743 | 97 300 | - B 315D 508 | 150 | 650 | 730 | 666 | 511 | 910 | 180 | 1080 | 216 | 315 | 45 | 874 | 469 | 28
_ | e | o 315M 508 | 115 | 615 | 625 | 610 | 455 | 305 | 457 | 115 | 540 | 216 | 315 | 40 | 743 | o7 (315)
00| - | - 31501 508 | 115 | 615 | 625 | 610 | 455 | 305 | 584 | 210 | 710 | 216 | 315 | 40 | 743 | o7 280
" 1200 160 | 3150 =08 | 115 | 615 | 625 | o10 | 255 | 305 | 582 | 210 | 710 | 216 | 315 | 20 | 723 | o7 - | 300 |250)| 3150 | 508 | 150 | 650 | 730 | 666 | 511 | 910 | 180 | 1080| 216 | 315 | 45 | 874 | 460 | 28
(315)

HLEE B i 8 &

SHAFT EXTENSION BEARING

FRAME Ehik  AEIREh
EE ; _ OPPOSITE
SIZE DRIVE END DRIVE END

L S
SHAFT EXTENSION BEARING

IR Zh iR JETRBhE
EE OPPOSITE
DRIVEEND  DRIVE END

280S 24 MB3X1.5 10415 3435| 65 140 | 110 | 134 18 58 69 M20X40 6314C3 6314C3
280S 24 MB3X1.5 107151 3435| 80 170 | 140 | 157 22 71 85 M20X40 6318 6316 315A M63X1.5 1376 460 70 140 110 134 20 62.5 74.5 M20X40 6315C3 6315C3
280M 24 MB3X1.5 1092 | 343 65 140 | 110 | 134 18 58 69 M20X40 6314C3 6314C3 315A M63X1.5 1326 380 95 170 140 157 25 86 100 M24X48 6320 6320
280M 24 MB3X1.5 1122 | 343 80 170 | 140 | 157 22 71 85 M20X40 6318 6316
315C MB3X1.5 1526 460 70 140 110 134 20 62.5 74.5 M20X40 6315C3 6315C3
3158 28 MB3X1.5 1131 369 65 140 | 110 | 134 18 58 69 M20X40 6314C3 6314C3
3155 28 ME3X1.5 1161 369 85 170 | 140 | 157 | 22 76 ap M20X40 6320 6316 315C M63X1.5 1476 380 95 170 140 157 25 86 100 M24X48 6320 6320
e I N (I R (I 315D | M63x1.5 | 1726 | 460 | 70 | 140 | 110 | 134 | 20 | 625 | 745 | M20Xd0 | 6315C3 6315C3
315M 28 MB3X1.5 1212 | 369 85 170 | 140 | 157 22 76 90 M20X40 6320 6316
315D M63X1.5 1676 380 95 170 140 157 25 86 100 M24X48 6320 6320
315L 28 MB3X1.5 1309 | 369 65 140 | 110 | 134 18 58 69 M20X40 6314C3 6314C3
E: 1 BEDAZE. m6 1. Tolerance of Shaft End Diameter D: m6
315L 28 MB3X1.5 1339 | 369 85 170 | 140 | 157 22 76 90 M20X40 6320 6316 .
2.9 EH: +0, -1, 2. Tolerance of Shaft Center Height H: +0, -1
i 1 HEDAZE. m6 1. Tolerance of Shaft End Diameter D: m6 3. oK. EE 3. Usable Shaft Length: EE
2. i@ H, +0, -1, 2. Tolerance of Shaft Center Height H. +0, —1. 4 FESRATEERETIE 4. Output In the Brackets for Optional Matching.
3. oA EE 3. Usable Shaft Length: EE

TECOMOTORS TECOMOTORS,
19\ Wehbsite | http://www.tecochina.net Website | http://www.tecochina.net AD



M2 Outline T E c o

IMERRERTE Z3#EH: B3 (IM 1001 ) ZH#EHKX: B5 (IM 3001)

L
LB
ED)
©
< (¥
h=t | .
i 8 £
KK HOLE LAT
i N
r,.‘l\q: [ )=
88 T DH TAP FIG. 1 I NY ° FIG. 2 ¢ >(H/U
DH TAP/] ¢D _DH TAP/ ¢D
B mm BA7. mm
o W E=RST
Output (kW) Output (kW) . FLANGE DIMENSION
2P 4P 6P
2P 4P 6P . M N P S
315 - - 355A 610 | 150 | 750 | 810 | 762 | 607 | 710 | 210 | 930 | 254 | 355 | 45 | 997 | 504 | 28
o 0.75 | 0.75 - 80M 1 12 165 | 130 | 200 | 12.0 B 177 | 144 | 112 | (22 |282.0|242.0
- 315 | 280 355A 610 | 150 | 750 | 810 | 762 | 607 | 710 | 210 | 930 | 254 | 355 45 997 | 504 28 ;g 15 | 0.75 90L 12 165 130 | 200 | 12.0 35 200 | 157 125 22 37153215
300 - 9
g?g ) ) 355C 610 | 150 | 750 | 810 | 762 | 607 | 900 | 210 | 1120| 254 | 355 | 45 | 997 | 504 | 28 3.7 3.7 2.2 112M 16 215 | 180 | 250 | 14.5 | 4.0 | 238 | 189 | 154 | 28 |431.0|371.0
— 355 5 i B &
375 315 355C 610 | 150 | 750 | 810 | 762 | 607 | 900 | 210 | 1120| 254 | 355 | 45 | 997 | 504 | 28 SHAFT EXTENSION BEARING
355
- - 375 400A 686 | 150 | 810 | 860 | 774 | 619 | 800 | 245 | 1060 | 280 | 400 | 40 | 1062 | 569 | 35 IR JEIR Bhis

G OPPOSITE
DRIVE END DRIVE END

oo &
SHAFT EXTENSION BEARING

IR Bhis E| e
EE G OPPOSITE 80 19 40 25 6 15.5 21.5 M6 x 12 620427 6204272
DRIVE END DRIVE END
0L 24 50 32 8 20.0 27.0 M8 x 16 620527 6205272
355A M63X1.5 1854 750 70 140 110 134 20 62.5 74.5 M20X40 6315C3 6315C3
112M 28 60 40 8 24.0 31.0 M10 x 20 630627 6306272
355A M63X1.5 1749 615 95 170 140 157 25 86 100 M24X48 6322 6320
E: 1. HEDAE. $19~ 428 6. 1. Tolerance of shaft end diameter D: Under ¢ 19 ~ ¢28: j6.
355C MB3X1.5 2044 750 70 140 110 134 20 62.5 74.5 M20X40 6315C3 6315C3 2. 5|F5NAE. 6. 2. Tolerance of N. 6.
355C | me3x1.5 | 1939 | 615 | 95 | 170 | 140 | 157 | 25 | 86 | 100 | M24x48 6322 6320 3. FHO0RH RIFE . 3. There is no eye bolt on frame size 90 .
400A MB63X1.5 1925 635 110 210 160 197 28 100 116 M24X48 6324 6320
E: 1. WEDAZE. mé 1. Tolerance of Shaft End Diameter D. mé
2. i H: +0, -1 2. Tolerance of Shaft Center Height H. +0, —1
3. T M. EE 3. Usable Shaft Length: EE

TECOMOTORS TECOMOTORS,
21\ Wehbsite | http://www.tecochina.net Website | http://www.tecochina.net AZ



SMIZE Outline
SN R L% R~

LB
_ @ _ |
B ED
o | Hlreeo = ..
N = P)=Nlgs
: =———
LA T [T
FI1G. 3 bi_tap/]

o
Output (kW)
4P 6P

ZH#EHKX: B5 (IM 3001)

FLANGE DIMENSION

M N

P S

= 22 | 1.5 100L 16 | 215 | 180 | 250 | 14.5| 4.0 | 219 | 180 | 145 | 28 | 374.5| 314.5
2 55 | 3.7 1325 3 20 | 265 | 230 | 300 | 145 | 4.0 | 273 | 224 | 180 | 35 |454.0)374.0
= 75 | 5.5 132M 20 | 265 | 230 | 300 | 145 | 4.0 | 273 | 224 | 180 | 35 |492.0|412.0
L Hy A&
SHAFT EXTENSION BEARING
IR B i AEIX Zh i
G OPPOSITE
DRIVE END DRIVE END
100L 28 60 40 8 24.0 31.0 M10 x 20 620622 620622
1328 38 80 64 10 33.0 41.0 M12 x 24 6308ZZ 6306ZZ
132M 38 80 64 10 33.0 41.0 M12 x 24 63082Z 6306ZZ

HE: 1. HHED/AE. $28. 6,638 k6.
23IGNAZE. 6.

QCOMOTORS
23

1. Tolerance of shaft end diameter D: Under ¢ 28: 6, $38: k6.
2.Tolerance of N: 6.

Wehbsite | http://www.tecochina.net

gAcC

TECO

LB AD _ LB AD
: FoLE o
B x, ; 2+ N
—— - ) oy ED L g o
rebo. " S i A m'i] 3l ° 3
e a[e a B E
B i -]
| | | N
Ll KK HOLE A rl LALT gk wove .
NN
4 7
FI1G. 4 e FIG. 9 w-®-$
DH TAP/| @D DH Tap/| @D

I EXRH
Output (kW) FLANGE DIMENSION
2P 4P 6P M N P S
NI EE 160M , |20 | 300|250 350 | 185] 50 | 334 | 263 | 218 | $35|608.0|498.0
185 15 | 11 160L 20 | 300 | 250 | 350 | 185 | 5.0 | 334 | 263 | 218 | 35 |652.0{542.0
7= = 180MA 20 | 350 | 300 | 400 | 185 | 5.0 | 382 | 305 | 250 | 52 |672.0(562.0
— | 52 15 180MC 5 | 20 | 350 | 300 | 400 | 185 | 5.0 | 382 | 305 | 250 | w52 |672.0(562.0
0| - | - 180LA 20 | 350 | 300 | 400 | 185 | 5.0 | 382 | 305 | 250 | w52 |710.0{600.0
— | 30 | " 180LC 20 | 300 | 300 | 400 | 185 | 5.0 | 382 | 305 | 250 | w52 |710.0{600.0
i iR &
SHAFT EXTENSION BEARING
IR BN im JEIR BhiH
S DRIVE END SQGCE)S&ED
160M 42 110 80 12 37.0 45.0 M16 x 32 630927 630722
160L 42 110 80 12 37.0 45.0 M16 x 32 630922 630722
180MA 48 110 80 14 425 51.5 M16 x 32 631122C3 63102ZC3
180MC 48 110 80 14 425 51.5 M16 x 32 631122 631022
180LA 55 110 80 16 49.0 59.0 M20 x 40 631227C3 63102ZC3
180LC 55 110 80 16 49.0 59.0 M20 x 40 631227 63102Z
iE: 1. HEDAZE. $42~ ¢48. k6,455 m6. 1. Tolerance of shaft end diameter D: Under ¢$42 ~ $48: k6, $ 55 : m6.

25| SNAE:

i6.

2. Tolerance of N. 6.

TECOMOTORS,
Website | http://www.tecochina.net A‘;



SMEZE Outline
SN R L% R~TE

L

Output (kW)

Z3EHFK: B5 (IM 3001)

E=RST
FLANGE DIMENSION

L L]
LB ADb_ P25
/
ED
=|a. _
—Ja|e
L) E
LAIT Skk HoLE / h
8-¢S HOLES -I—]-
/A |
FIG. 1T s % o
o _TaP /| #D
%ﬁz mm

2P . M I\ P S T
3; = = 200LA 20 | 400 | 350 | 450 | 18.5 5 458 | 362 | 299 | (65 |774.5|664.5
— | 7| 2| 200c o |20 | 400 | 350 | 450 | 185 5 | 458 | 362 | 299 | y65 |804.5/664.5
55 = = 225S8A 22 500 | 450 | 550 | 18.5 5 510 | 411 | 337 | 92 |786.0|676.0
= 55 45 22558C 22 500 | 450 | 550 | 18.5 5 510 | 411 | 337 | 92 |816.0|676.0
75 = = 250SA 22 500 | 450 | 550 | 18.5 5 545 | 499 | 384 | 92 |852.5|742.5
= 75 55 250sC 2 22 500 | 450 | 550 | 18.5 5 545 | 499 | 384 | 92 |882.5|742.5
90 = = 250MA 22 500 | 450 | 550 | 18.5 5 545 | 499 | 384 | 92 |890.5|780.5
= 90 75 250MC 22 500 | 450 | 550 | 18.5 5 545 | 499 | 384 | (92 |920.5|780.5
ok e
SHAFT EXTENSION BEARING
c mas LR
DRIVE END DRIVE END
200LA 55| 110 80 16 49.0 59.0 M20 x 40 6312ZZC3 6212ZZC3
200LC 60 140 110 18 53.0 64.0 M20 x 40 631427 621227
225SA 55 110 80 16 49.0 59.0 M20 x 40 6312ZZC3 621227C3
225S8C 65 140 110 18 58.0 69.0 M20 x 40 631522 621322
250SA 55 110 80 16 49.0 59.0 M20 x 40 6313C3 6313C3
2508C 75 140 110 20 67.5 79.5 M20 x 40 NU316 6313
250MA 55 110 80 16 49.0 59.0 M20 x 40 6313C3 6313C3
250MC 75 140 110 20 67.5 79.5 M20 x 40 NU316 6313
E: 1. MEDAZE. ¢56~475. mé6. 1. Tolerance of shaft end diameter D: ¢ 55 ~ ¢ 75: m®.
2B|FNAZE: 6. 2. Tolerance of N: |6 .

\{?DMOKRS
25

Website | http://www.tecochina.net

La

W

Output (kW)

HES
FRAME

GA

HB=RST

NON DRIVE END

GRIFP EXTENSION OF
GEEASE DISCHARGER

FLANGE DIMENSION

4
‘#‘i DRIVE END

QRIP EXTENSION OF
QEEASE D[SCHARGCER

2 4P 6P  SIZE M N P S T

9 | - | - 280S | 22 | 500 | 450 | 550 | 19 | 5 | 560 | 600 | 445 | 322 | Me3x1.5 | 10415| 002

- | 90 | 55| 280s | 22 | 500 | 450 | 550 | 19 | 5 | 560 | 600 | 445 | 322 | Mme3x1.5 | 10715| 002
10| - | - 280M | 22 | 500 | 450 | 550 | 19 | 5 | 569 | 600 | 445 | 322 | Me3x15 | 1002| 952

- |10 | 75 | 280M | 22 | 500 | 450 | 550 | 19 | 5 | 560 | 600 | 445 | 322 | Mme3x1.5 | 1122 952
132 - | - 3155 | 25 | 600 | 550 | 660 [ 24 | 6 | 610 | 610 | 455 | 330 [ M63X1.5 | 1131| 991

- | 132 90 | 3155 | 25 | 600 | 550 [ 660 | 24 | 6 | 610 | 610 | 455 | 330 | Me3x15 | 1161 991
e | - | - 315M | 25 | 600 | 550 | 660 | 24 | 6 | 610 | 610 | 455 | 339 | Me3x15 | 1182|1042

- | | | 315M | 25 | 600 | 550 | 660 | 24 | 6 | 610 | 610 | 455 | 330 [ Me3x15 | 1212 1042
200 | - | - 315L | 25 | 600 | 550 | 660 | 24 | 6 | 610 | 610 | 455 | 339 | Me3x15 | 1309 1169

- | 200 | 160 | 315L | 25 | 600 | 550 [ 660 | 24 | 6 | 610 | 610 | 455 | 330 [ Me3x15 | 1330 1169

= : H 5 . :=‘ -
D D f S .-.}.”

DR B DR D
280S | 490 | 490 | 65 | 140 | 110 | 134 | 18 | 58 | 69 | M20X40 6314C3 6314C3
280s | 480 | 497 | 80 | 170 | 140 | 157 | 22 | 71 | 85 | M20x40 6318 6316
280M | 490 | 490 | 65 | 140 | 110 | 134 | 18 | 58 | 69 [ M20X40 6314C3 6314C3
280M | 480 | 497 | 80 | 170 | 140 | 157 | 22 | 71 [ 85 | M20Xdo 6318 6316
3155 | 550 | 550 | 65 | 140 | 110 | 134 | 18 | 58 | 69 | M20X40 6314C3 6314C3
3155 | 525 | 540 | 85 | 170 | 140 | 157 | 22 | 76 | 90 | M20X40 6320 6316
315M | 550 | 550 | 65 | 140 | 110 | 134 | 18 | 58 | 69 | M20X40 6314C3 6314C3
315M | 525 | 540 | 85 | 170 | 140 | 157 | 22 | 76 | 90 | M20X40 6320 6316
315L | 550 | 550 | 65 | 140 | 110 | 134 | 18 | 58 [ 69 | M20Xdo 6314C3 6314C3
315 | 525 | 540 | 85 | 170 | 140 | 157 | 22 | 76 [ 90 | M20Xd0 6320 6316

H: 1L BEDAZE: mb6 1. Tolerance of Shaft End Diame ter D: m6

2,¢“LQEFL +0.—1;
4. AR EE;

Website | http://www.tecochina.net

2. Tolerance of Shaft Center Height H: +0, -1 ;
3. Tolerance of N. js6
4. Usable Shaft Length: EE;

'ECOMOHTE/
26



SMEZE Outline

S KRk R~ E

HB

HB

=S

i
Output (kW)

[/

LA

G

DH TAP

JdE
<

73C: B5 (1M 3001 )

%ﬁz mm

-

LA

gac

|',E1
oN
[X]

ZI#EHK . B35 (IM2001)

PAC

LE

220 - 315A 25 | 600 | 550 | 660 6 665 | 510 | 433 | M63X1.5 | 1376 1236
- | 220 | 185 315A 25 | 600 | 550 | 660 6 665 | 510 | 433 | M63X1.5 | 1326 1156
ity LIS
SHAFT EXTENSION BEARING
I B i AEIR Bhim
ED EE G OPPOSITE
DRIVE END DRIVE END
315A 70 | 140 | 110 | 134 | 20 | 625 745 | M20X40 6315C3 6315C3
315A 95 | 170 | 140 | 157 | 25 86 100 M24X48 6320 6320

i 1 BEDAZE. mé;
2. EP‘L‘!H: +0, =1 '
3. 5| FNAE. s6;
4. T A%, EE;

\TECOMOTORS
27

Website | http://www.tecochina.net

1. Tolerance of Shaft End Diameter D: m6 ;
2. Tolerance of Shaft Center Height H. +0, -1 ;

3. Tolerance of N. js6;

4. Usable Shaft Length: EE;

FIG. 1 ur,)/; ""'/;
DH TAP/ iﬁ.D
DH TAP $D
%ﬁz mm

W  HUES H Rt
Output (kW) FRAME FIG. FLANGE DIMENSION AA AB AC AD HC | HD
2P 4P | 6P SIZE O/LA|M N | P | S5|T
0.75|0.75| — 80M 12 [165]130|200|12.0| 3.5 | 125|35.5| 155|177 | 144|112| 100| 130| 50 | 80 | 9.0 | 168 — | 55 | Y 10|22
;g 1.5)0.75 90L 12 [ 165]130|200|12.0| 3.5 | 140|35.5| 170| 200| 157 | 125| 125| 150| 56 | 90 [10.0{ 190 — | 65 |w 10|22
—122]15| 100L 16 | 215]| 180|250 14.5| 4.0 | 160|45.0| 195{219| 180| 145| 140|175| 63 | 100(12.5] — |243| 71 |y12|yp28
3737122 112M 2 |16 |215|180|250|14.5| 4.0 | 190|45.0| 224|238| 189| 154 | 140| 175| 70 | 112{14.0] — |265| 83 |w12| w28
g: 55|37 1325 20 | 2651230 300{14.5| 4.0|216|45.0/ 250 273| 224|180 140| 175| 89 | 132|16.0f — |310| 83 |Y12| Y35
— | 75]55| 132M 20 | 2651 230|300{14.5| 4.0|216|45.0/ 250 273|224 | 180| 178| 212| 89 | 132|16.0 — |310| 83 |Y12| Y35

Hh o L7 3
SHAFT EXTENSION BEARING
mas | Sl
DRIVE END DRIVE END

80M 282 92.5 19 40 25 6 15.5 21.5 M6 x 12 6204727 6204272

90L 371.5 101.5 24 50 32 8 200 27.0 M8 x 16 6205727 620527

100L 415 111.5 28 60 40 8 24.0 31.0 M10 % 20 620627 620627

112M 431 121.0 28 60 40 8 24.0 31.0 M10 = 20 630627 630627

1328 504 145.0 38 80 64 10 33.0 41.0 M12 x 24 630827 6306272

132M 542 145.0 38 80 64 10 33.0 41.0 M12 x 24 630827 6306272

1 HEDAZ. $19~¢28. j6, $38: K.
2. i@ H: +0, -0.5.

3. 5FNAE 6.

1. Tolerance of shaft end diameter D: ¢ 19~ ¢28: j6, ¢ 38:

2. Tolerance of shaft center high H. +0, -0.5.
3. Tolerance of N : j6.

Website | http://www.tecochina.net

k6.

TECOMOT(?
28



SMEZE Outline
SN R L% R~TE

=

gac

HD

AD

=S

+

A
a<

AD

73: B35 (IM 2001 )

llo

HE

3

LE!

AE

LE

= 3,_\

e T

4—¢K HOLES

KK _HOLE l

4-¢K HOLES /

Wy ES RZR
Output (kW) FRAME FLANGE DIMENSION A  AA AB
2P 4P SIZE LAAM N|P S| T
1| 75[ 160m 5 20 | 300|250|350|18.5| 5 |254| 50 |300|334|263|218|210|250|108|160| 18 |377(108| @145 |35
18.5( 15| 11| 160L 20 | 300|250|350|18.5| 5 |254| 50 | 300|334 |263|218|254|300|108|160| 18 |377(108| w145 |35
22| — | — | 180MA 20 |350|300|400|18.5| 5 |279| 75 |355|382|305|250|241|297|121|180| 22 |431(119| @145 |52
- 1‘2%5 15 | 180MC ; 20 | 350|300|400|18.5| 5 |279| 75 |355|382|305|250|241|297|121|180| 22 |431(119| @145 |52
30 — | —| 180LA 20 |350|300|400|18.5| 5 |279| 75 |355|382|305|250|279|335|121|180| 22 |431(119| @145 |52
- |22 "225 180LC 20 | 350/ 300|400(18.5| 5 |279| 75 |355|382|305|250|279|335|121|180| 22 [431|119| Y145 |ys52
H 3% W A&
SHAFT EXTENSION BEARING
IR Zhis JEBR i
G OPPOSITE
DRIVE END  DRIVE END
160M 608.0 180.0 42 110 80 12 37.0 45.0 M16 x 32 6309272 630722
160L 652.0 180.0 42 110 80 12 37.0 45.0 M16 x 32 630927 630722
180MA 672.0 200.0 48 110 80 14 425 51.5 M16 x 32 63112ZC3 6310ZZC3
180MC 672.0 200.0 48 110 80 14 42.5 51.5 M16 = 32 631122 631022
180LA 710.0 200.0 55 110 80 16 49.0 59.0 M20 x 40 6312ZZC3 6310ZZC3
180LC 710.0 200.0 55 110 80 16 49.0 59.0 M20 x 40 631227 631022
iE: 1. BEDAZE. 42 ~ ¢48. k6, $55: mé. 1. Tolerance of shaft end diameter D: Under $42 ~ $48. k6, $55: m6.

2. fiix@EH: +0, -0.5.

3.BIGNAZE |6

\TECOMOTORS
29

Website | http://www.tecochina.net

2. Tolerance of shaft center highH. +0, -0.5.
3. Tolerance of N : |6

TECO

L AD 22‘59
i LA 8-95§
. /WOLE
ED ED A /7 L) o
d
®) e \ E /
iE — IEVERN
T [T4 ve || o |z 3tk nove/ AL A
KX HOLE ___ B8 4-¢K HOLES / AB
4-gK_noLes / F
BN
[ G. 5 (o
F : L) = FIG. 6 do-Yo
p Tap/ D DH_TAP éD
%ﬁz mm
i
Output (kW) FLANGE DIMENSION
2P 6P LA M N P S T
i; — | — | 200LA 20 | 400| 350450185/ 5 |318| 80 |400|458|362|299|305|365|133|200| 25 |499|129| @185 |wes
- 3; gg 200LC z 20 | 400|350 450|18.5| 5 |318| 80 |400]|458|362)|299|305|365| 133|200| 25 |499|129| ¢18.5 |we5
55| — | — | 225S8A 22 | 500450550185 5 |356|100|450|510|411)|337|286|350|149|225| 30 | 550|153 @185 |waz
— | 55 | 45 | 2255C 22 | 500450550185/ 5 |356|100|450|510|411)|337|286|350| 149|225| 30 | 550|153 @185 |waz
75| — | — | 250SA 22 1500450550185/ 5 |406|110|500]|545|499|384|311|385| 168|250 32 |612|139] @24 |92
— | 75| 55 | 250SC B 22 | 500|450 550|185/ 5 |406|110|500|545|499|384|311|385| 168|250 32 |612|139| @24 |w92
90| — | — | 250MA 22 | 500450550185/ 5 |406|110|500|545|499|384|349|425|168|250| 32 |612|139| @24 |92
— | 90| 75| 250MC 22 | 500|450 550|185 5 | 406|110 500| 545| 499|384 | 349|425(168|250| 32 |612(139] @24 |pa2
5 iwm b= 4
SHAFT EXTENSION BEARING
IR zhim JEIR Bhi®
G OFPPOSITE
DRIVE END DRIVE END
200LA 774.5 226.5 55 110 80 16 49.0 59.0 M20 x 40 6312ZZC3 62122ZC3
200LC 804.5 226.5 60 140 110 18 53.0 64.0 M20 = 40 631427 621227
225S8A 786.0 241.0 55 110 80 16 49.0 59.0 M20 x 40 6312ZZC3 6212Z2ZC3
225S8C 816.0 241.0 65 140 110 18 58.0 69.0 M20 x 40 6315Z2Z 621322
2505A 852.5 263.5 55 110 80 16 49.0 59.0 M20 = 40 6313C3 6313C3
2508C 882.5 263.5 75 140 110 20 67.5 79.5 M20 x 40 NU316 6313
250MA 890.5 263.5 55 110 80 16 49.0 59.0 M20 x 40 6313C3 6313C3
250MC 920.5 263.5 75 140 110 20 67.5 79.5 M20 x 40 NU316 6313

iE:

3.BIGNAZE 6

1. #WhEDAZE:. $55~ ¢75: mé.
2. FisEH: +0, -05.

Website | http://www.tecochina.net

1. Tolerance of shaft end diameter D: Under ¢ 55 ~ ¢ 75: m6.

2. Tolerance of shaft center high H: +0, -0.5 .

3. Tolerance of N : j6

TECOMOT(?
30



SMEZE Outline
SN R L% R~TE

oW

Output (kW)

PES

FRAME

EZ=RST
FLANGE DIMENSION

=S

JdE
<

773C: B35 (IM 2001 )

# oW
Output (kW)

MES

FRAME

FLANGE DIMENSION

E=ERST

2P 4P 6P| SIZE LA M N P S T
220f - | - | 315A | 25 |600|550|660| 24 | 6 |508|150|650|730|666]|511|560|180|730|216|315| 45 | 874|469 28 | M63X1.5
- |220{185| 315A | 25 |600|550|660| 24 | 6 |508|150|650|730|666|511|560|180|730|216(315| 45 | 874|469| 28 | M63X1.5
250| - | - | 315C | 25 |600|550|660| 24 | 6 |508|150|650|730|666]|511|710|180|880|216|315| 45 | 874|469 28 | M63X1.5
- |250| 2B | 315C | 25 |600|550{660| 24 | 6 |508|150|650|730|666|511|710| 180|880|216|315| 45 [874|469| 28 | ME3X1.5
280
3m| - | - | 315D | 25 |600|550|660| 24 | 6 |508|150|650|730|666|511|910|180|1080|216|315| 45 |874|469| 28 | M63X1.5
(315)
N 280
300 |250)| 315D | 25 |600|550|660| 24 | 6 |508|150|650|730|666|511|910| 180|1080| 216|315/ 45 | 874|469 28 | M63X1.5
B U A&
SHAFT EXTENSION BEARING
K Bh 5w JEIR B dm
EE G OPPOSITE
DRIVE END = DRIVE END
315A 1376 460 70 140 110 134 20 62.5 74.5 M20X40 6315C3 6315C3
315A 1326 380 95 170 140 157 25 86 100 M24X48 6320 6320
315C 1526 460 70 140 110 134 20 62.5 74.5 M20X40 6315C3 6315C3
315C 1476 380 95 170 140 157 25 86 100 M24X48 6320 6320
315D 1726 460 70 140 110 134 20 62.5 74.5 M20X40 6315C3 6315C3
315D 1676 380 95 170 140 157 25 86 100 M24X48 6320 6320

2P 4P 6P SIZE LA M N P S T
90| - - 280S | 22 | 500|450 550| 19 | 5 [457|110|560)600|445|368(110|445|190|280| 30 |651| 82 | 24 | M63X1.5
- | 90| 55| 280S | 22 |500|450|550| 19 | 5 |457|110|560|600|445|368|110|445|190|280| 30 |651| 82 | 24 [ M63X1.5
1o} - - 280M | 22 |500|450|550| 19 | 5 |457(110|560|600]445|419|130|495|190|280| 30 |651| 82 | 24 | M63X1.5
- |10} 75| 280M | 22 |500|450|550| 19 | 5 |457|110|560|600|445]|419|130|495|190(280| 30 |651| 82 | 24 | M63X1.5
132 - - 3155 | 25 |600|550|660| 24 | 6 |[508|115|615)610|455|406(115|490|216|315| 40 | 743| 97 | 28 | M63X1.5
- 1132 90 | 315S | 25 |600|550|660| 24 | 6 |508|115{615|610|455|406| 115|490 216|315| 40 |743| 97 | 28 | M63X1.5
132 - - 315M | 25 |600|550|660| 24 | 6 |508(115[615|610]455|457 | 115|540|216|315| 40 |743| 97 | 28 | M63X1.5
- :gg :;g 315M | 25 |600|550|660| 24 | 6 |508(115[615|610]455|457| 115|540 216|315| 40 |743) 97 | 28 | M63X1.5
200| - - 315L | 25 |600|550|660| 24 | 6 |508|115[{615|610|455]|584|210|710|216|315| 40 |743| 97 | 28 | M63X1.5
- 12000160 315L | 25 |600|550|660| 24 | 6 |508|115{615|610|455|584|210|710|216|315| 40 |743| 97 | 28 | M63X1.5
S AFT | 0 BE
e D D A D AL ...I.ﬂ
DR D DR D
2808 1041.5 343.5 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
280S 1071.5 343.5 80 170 140 157 22 71 85 M20X40 6318 6316
280M 1092 343 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
280M 1122 343 80 170 140 157 22 71 85 M20X40 6318 6316
3158 1131 369 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
3158 1161 369 85 170 140 157 22 76 20 M20X40 6320 6316
315M 1182 369 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
315M 1212 369 85 170 140 157 22 76 20 M20X40 6320 6316
315L 1309 369 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
315L 1339 369 85 170 140 157 22 76 20 M20X40 6320 6316

i 1 BEDAZE. mé;
2.¢‘JI}EH: +0,-1;

3. B|SNAZE. js6;
4. oA, EE;

\TECOMOTORS
31

Website | http://www.tecochina.net

1. Tolerance of Shaft End Diameter D: m6 ;

2.Tolerance of Shaft Center Height H: +0, =1 ;

3. Tolerance of N: js6 ;
4. Usable Shaft Length:. EE;

i 1. HEDAZE, m6;

2. EP‘I:,‘EH: +0, -1;

3. 3|SNAZE. js6;

4. o]k EE;
6. IESHAEERHHIIEK;

Website | http://www.tecochina.net

1. Tolerance of Shaft End Diameter D. m6 ;

2. Tolerance of Shaft Center Height H: +0, -1 ;
3. Tolerance of N: js6 ;

4. Usable Shaft Length. EE;
5. Output In the Brackets for Optional Matching ;

TECOMOT(?
3z



SMEZE Outline
SN R L% R~TE

ZI#EHX: B35 (IM 2001 )

AD

ZIEHFX: V1 (IM3011)

FIG.1

gAS

FIG.2

LB

WM HES EEZRS
Output (kW) = FRAME FLANGE DIMENSION A  AA AB | AC AE B BA BB C H
2P 4P 6P SIZE LA M N S
35| - | - 355A | 28 |740|580)800| 24 | 6 |610|150|750|810|762|607|710)210|930|254|355| 45 [997|504| 28 | M63X1.5
250
- 1315280 355A | 28 |740)580|800| 24 | 6 |610{150|750|810|762|607|710|210|{930| 254 | 355| 45 | 997|504 | 28 | M63X1.5
300
?: - - 355C | 28 |740|580|800| 24 | 6 |610(150|750|810|762|607|900|210|1120 254 | 355| 45 | 997|504 | 28 | M63X1.5
- g’?: 315 355C | 28 |740|580|800) 24 | 6 |[610|150|750(810| 762|607 |900|210|1120| 254|355 45 | 997|504 | 268 | M63X1.5
- - ;’?: 400A | 28 |940|880|1000| 28 | 6 |686|180|810|860|774|619)800|245|1060) 280|400| 40 |1062| 569| 35 | M63X1.5
Uiy S
SHAFT EXTENSION BEARING
zhik  AEIREhIR
= ¢ DRIVE END E?RPIE’IESElLE
353A 1854 750 70 140 110 134 20 62.5 74.5 M20X40 6315C3 6315C3
355A 1749 615 95 170 140 157 25 86 100 M24X48 6322 6320
355C 2044 750 70 140 110 134 20 62.5 74.5 M20X40 6315C3 6315C3
355C 1939 615 95 170 140 157 25 86 100 M24X48 6322 6320
400A 1925 635 110 210 160 197 28 100 116 M24X48 6324 6320

iE: 1. HEDAE m6;
2. q:”t,‘!H: +0, =1 '
3. 3|FNAE.; s6;
4. oI EE;

\TECOMOTORS
33

Website | http://www.tecochina.net

1. Tolerance of Shaft End Diameter D: m6 ;

2. Tolerance of Shaft Center Height H: +0, -1 ;
3. Tolerance of N. js6 ;

4. Usable Shaft Length: EE;

|
@ }‘k s
-
i’[ﬁ mm
& o HES E=RSE
Output (kW) FRAME FLANGE DIMENSION
2P 4P SIZE LA M N P 5
0751075 — 80 1 12 165 | 130 | 200 | 120 | 35 | 177 | 144 | 112 - 22 |2820|2420| 60
;g 15 |1 075 90L 2 12 165 | 130 | 200 | 120 | 35 | 200 | 157 | 125 - 22 |3715]321.5| 113
- 22 1.5 100L 1 16 | 215 | 180 | 250 | 145 | 40 | 219 | 180 | 145 | 140 | 28 |3745|3145| 88
37| 37| 22 112M 2 16 | 215 | 180 | 250 | 145 | 40 | 2383 | 189 | 154 | 150 | 28 |431.0|371.0f 135
?2 35 || & 1325 ; 20 | 265 | 230 | 300 | 145 40 | 273 | 224 | 180 | 169 35 |454.0(3740| 97
- 75| 55 132M 20 | 265 | 230 | 300 | 145 40 | 273 | 224 | 180 | 169 35 [4920(4120| 116
o oK
SHAFT EXTENSION BEARING
IR Zhi JEIRBh i
G DRIVE END SFE’.E}ESE'LE
80 19 40 25 6 15.5 21.5 M6x12 6204272 6204272
90L 24 50 32 8 20.0 27.0 M8x16 6205272 620527
100L 28 60 40 8 24.0 31.0 M10%20 620622 620622
112M 28 60 40 8 24.0 31.0 M10x20 630627 6306272
132S 38 80 64 10 33.0 41.0 M12x24 630827 6306272
132M 38 80 64 10 33.0 41.0 M12x24 630822 630622
E: 182D AE. ¢19~428. 6, $38: k6. 1.Tolerance of Shaft End Diameter D: ¢ 19~ 28: j6, ¢ 38: k6.
2B|FNAZE: 6 2.Tolerance of N: |6
3.F#B0FIF#90L3%H B EF. 3.There is No HOOK on Frame Size 80 and 90L.

Website | http://www.tecochina.net

TECOMOT(?
34



SMIZE Outline
SN RERERTE

#ac

FIG.3 FIG4 FIG.5 FIG.6
#f" Hﬂl Jrua ua‘]i HB “\'ll ) pe i
[ i
m . Tacofils- 5|
TECD Sl =
1 =142 :
1]
[T
PEK Hole
o[ -
F -
|
W ,)\;
™y
J/‘ e DH Ta pl;/
o B-#5 Holea
%ﬁz mm i’[ﬁ mm
i WS EE R~ W NES
Output (kW) FRAME FLANGE DIMENSION Output (kW) FRAME FLANGE DIMENSION
2P 4P 6P SIZE M N 2P 6P SIZE M N P S T
a7
w1 |75 160M 20 [ 300 | 250 | 350 [ 185| 5 | 334 | 263 | 218 | 217 | 35 | 608 | 498 [151.0 s | = | = | 200LA 20 [400 ) 350 | 450 [ 185) 5 | 458 | 362 | 299 |286.0/ 65 |774.5|664.5/194.5
3 - | 4 2| 200c 20 | 400 | 350 | 450 | 185 | 5 | 458 | 362 | 299 |286.0| 65 |804.5/664.5(194.5
185| 15 | 11 160L 20 | 300 | 250 | 350 | 185 | 5 | 334 | 263 | 218 | 217 | 35 | 652 | 542 |173.0
5 | — | — 225SA 22 | 500 | 450 | 550 | 185 | 5 | 510 | 411 | 337 [312.0| 92 |786.0|676.0|190.0
2| - - 180MA 20 | 350 | 300 | 400 | 185 | 5 | 382 | 305 | 250 | 241 | 52 | 672 | 562 | 1705
— | 55 | 45 | 2255C 22 | 500 | 450 | 550 | 185 | 5 | 510 | 411 | 337 [312.0| 92 |816.0|676.0|190.0
185
~ | » | 5] 8MC || 20 | 350|300/ 400 185) 5 | 382 305] 250 | 4T ] 52 | 672 | 562 | 1705 75 | — | = | o250sA 22 | 500 | 450 | 550 | 185 | 5 | 545 | 490 | 384 |3205| 92 |8525|7425[1825
(- | - 180LA 20 | 350 | 300 | 400 | 185 | 5 | 382 | 305 | 250 | 241 | 52 | 710 | 600 | 1895 — | 75 | 55 | 250SC 22 | 500 | 450 | 550 | 185 | 5 | 545 | 499 | 384 [3295| 92 |882.5|742.5|1825
— 30 123;‘ 180LC 20 | 350 | 300 | 400 | 185 | 5 382 | 305 | 250 | 241 | 52 | 710 | 600 | 1895 90 = = 250MA 22 | 500 | 450 | 550 | 185 | 5 545 | 499 | 384 | 3295 92 |890.5|780.5|2015
o & — | 90 | 75 | 250MC 22 | 500 | 450 | 550 | 185 | 5 | 545 | 499 | 384 [329.5| 92 |920.5/780.5/2015
SHAFT EXTENSION BEARING i &
S SHAFT EXTENSION BEARING
IR Ehi% JEBR BhiR o mrarer
OPPOSITE G Wik gﬁ%ﬁﬁ?
DRIVE END DRIVE END DRIVE END FEREETE
160M 42 110 80 12 37.0 45.0 M16x32 630927 630722 — = - - = e 50.0 M20x40 631277C3 621277C3
160L 42 110 80 12 37.0 45.0 M16x32 630927 630727 200LC 60 140 110 18 53.0 64.0 M20x40 631427 621227
180MA 48 110 80 14 425 515 M16x32 63112ZC3 63102ZC3 225SA 55 110 80 16 49.0 59.0 M20x40 6312ZZC3 6212ZzC3
180MC 48 110 80 14 425 51.5 M16%32 631122 631022 2255C 65 140 110 18 58.0 69.0 M20x40 631522 621322
250SA 55 110 80 16 490 59.0 M20x40 6313C3 6313C3
180LA 55 110 80 16 49.0 59.0 M20x40 63122ZC3 63102ZC3
250SC 75 140 110 20 67.5 795 M20x40 NU316 6313
180LC % 110 80 16 49.0 590 M20x40 631222 631022 250MA 55 110 80 16 49.0 59.0 M20x40 6313C3 6313C3
i 1HEDAE. $42~¢48: k6:;¢$55: mé. 1.Tolerance ofShaft End Diameter D: ¢ 42~ ¢ 48: k6;¢55: m6. 250MC 75 140 110 20 67.5 79.5 M20%40 NU316 6313
25| SNAZE. 6 2 Tolerance of N. |6
iE: 1.4EDAE. ¢55~¢75: m6. 1.Tolerance of Shaft End Diameter D: ¢ 55~ ¢ 75: m6 .
23|SNAZE. 6 2.Tolerance of N |6

\TECOMOTORS
35

Website | http://www.tecochina.net

Website | http://www.tecochina.net

TECOMOT(?
36




SMEZE Outline

S KRk R~ E

[t

o

Output (kW)

LB

HES

FRAME

NON DRIVE END

QRIP EXTENSIOCN OF‘\
Y
o

GEEASE DI SCHARGER

DRIVE END 0
GRIP EXTENSIcoN OF @
CEEASE DISCHARGER A
Y
B e
v
.
. 8~S
RN Y | !
< (DT
o--® o
b DH TaP

DIMENS 1 ONsS

E=R
FLANGE DIMENSION

IN MM

KK

L g
-

AE

e

AD

2P 6P SIZE M N = 5 T
90 - - 280S 22 | 500 | 450 | 550 19 5 569 | 600 445 | 322 |10415| 902 | 126.5| 490 | 490
- 90 28 280S 22 | 500 | 450 | 550 19 5 569 | 600 445 | 322 [10715| 902 | 126.5| 480 | 497
110 - - 280M 22 | 500 | 450 | 550 19 5 569 | 600 445 | 322 | 1092 952 | 152 | 490 | 490
- Moy| 75 280M 22 | 500 | 450 | 550 19 5 569 | 600 445 | 322 | 1122 952 | 152 | 480 | 497
132 - - SRS 25 | 600 | 550 | 660 | 24 6 610 | 610 455 | 339 | 1131 | 991 | 171 | 550 | 550
- 1321 90 SRS 25 | 600 | 550 | 660 | 24 6 610 | 610 455 | 339 | 1161 | 991 | 171 | 525 | 540
]gg - - 315M 25 | 600 | 550 | 660 | 24 6 610 | 610 455 | 339 | 1182 1042 196.5| 550 | 550
I T T VT 25 | 600 | 550 | 660 [ 24 | 6 | 610 | 610 455 | 339 | 1212 1042 196.5] 525 | 540
200 - - 315L 25 | 600 | 550 | 660 | 24 6 610 | 610 455 | 339 | 1309 | 1169 | 260 | 550 | 550
- 200 | 160 315L 25 | 600 | 550 | 660 | 24 6 610 | 610 455 | 339 | 1339 | 1169 | 260 | 525 | 540
S p 0 BEAR
oA =) B 2
D » A D o]=I=To
DR » DR D
2808 M63X1.5 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
2808 ME3X1.5 80 170 140 157 22 71 85 M20X40 6318 6316
280M M63X1.5 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
280M M63X1.5 80 170 140 157 22 71 85 M20X40 6318 6316
3158 M63X1.5 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
3158 M63X1.5 85 170 140 157 22 76 90 M20X40 6320 6316
315M M63X1.5 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
315M M63X1.5 85 170 140 157 22 76 90 M20X40 6320 6316
315L M63X1.5 65 140 110 134 18 58 69 M20X40 6314C3 6314C3
315L M63X1.5 85 170 140 157 22 76 90 M20X40 6320 6316
iE: 1. BEDAE. mb 1. Tolerance of Shaft End Diameter D: m6
2.piEH: +0, -1 ; 2.Tolerance of Shaft Center Height H: +0, -1 ;
3.3[FNLZE: js6; 3.Tolerance of N js6 ;
4T EE; 4.Usable Shaft Length: EE ;

\TECOMOTORS
37

Website | http://www.tecochina.net

LB

DH TAP

DIMENS 1ONS [N MM

i’[ﬁ mm
Feapys
W e Rt
Output (kW) ERANE FLANGE DIMENSION
P 4P 6P SIZE N P S
20| - | - 315A 25 | 600 | 550 | 660 | 24 665 | 510 | 433 | 1376 | 1236 | 508 | M63X15
- | 220 | 185 | 315A 25 | 600 | 550 | 660 | 24 665 | 510 | 433 | 1326 | 1156 | 658 | M63X1.5
20| - | - 315C 25 | 600 | 550 | 660 | 24 665 | 510 | 433 | 1526 | 1386 | 658 | M63X15
- | 250 ;gg 315C 25 | 600 | 550 | 660 | 24 665 | 510 | 433 | 1476 | 1306 | 658 | M63X15
250
- | 315|280 | 355A 28 | 740 | 580 | 800 | 24 720 | 565 | 488 | 1749 | 1579 | 641 | M75X15
& in 5 A
SHAFT EXTENSION BEARING
IR h JEIR Bhim
EE G OPPOSITE
DRIVE END DRIVE END
315A 70 | 140 | 110 | 134 | 20 | 625 | 745 | M20x40 6315C3 7315
315A 95 | 170 | 140 | 157 | 25 86 100 | M24x4s 6220 6320
315C 70 | 140 | 110 | 134 | 20 | 625 | 745 | M20x40 6315C3 7315
315C 95 | 170 | 140 | 157 | 25 86 100 | M24x4s 6220 6320
355A 95 | 170 | 140 | 157 | 25 86 100 | M24x4s 6222 7318

2. q:”t,‘!H: +0, =1 '
3. B|FNAE. [s6
4. oI EE;

Website | http://www.tecochina.net

1. Tolerance of Shaft End Diameter D. m6

2. Tolerance of Shaft Center Height H: +0, -1 ;
3. Tolerance of N. js6

4. Usable Shaft Length: EE;

TECOMOT(?
38



